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AcrolgX.Net

dps Package

Das Puzzle Spiel

D. P. Story

Abstract: Das Puzzle Spiel is a IgX package for creating a puzzle,
a message actually, and a series of questions and answers. The
document consumer matches the questions with the answers.
With each match, another letter appears in the puzzle. Upon

completion of all questions, the message hidden in the puzzle is
revealed.

Distribution: Click on the link below, and save dps . txt to your
hard drive.?

dps.txt

Rename dps.txttodps.zip. Unzip dps.zip somewherein
your BEX search path. Unzipping will create a folder named dps.
If using a TeX system requires it, refresh your file name database.

Brief descriptions of these files are given on page 3.

91f the link does not work for you, save dps . txt using the Adobe Reader user
interface.

© 2006 dpstory@acrotex.net
Last Revision Date: October 17, 2006
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Section 1: Introduction 3

1. Introduction
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The work on this package was inspired by one of my son’s worksheets in pre-algebra. The
worksheet consisted of a series of simple algebraic expressions the student was to simplify. The
simplified form was listed somewhere in the answers column. The answer had a letter associated
with it which the student then placed in a puzzle. Upon completion of the worksheet, the puzzle
(message) is completely filled in; if the message makes sense, the student can determine that
he/she did the worksheet correctly.

| set out to duplicate this worksheet for electronic media, but also to have an option for paper as
well.

2. Requirements
The following packages are required for dps beyond that of the standard BWgX distribution:

+ AeB: The Web and eForms components of the AcrdlgX eDucation Bundle are used.

- random. tex: ATeX/BWgX macro file to generate random numbers, the package was written
by Donald Arseneau.

» xkeyval: For superior management of package options.

The package should work for users of distiller (dvips, dvipsone), pdftex and dvipdfm.

3. Acquiring dps.dtx and its demo files

The distribution is attached to this documentation.

dps_demo.tex: A small demo file, that you can use to try the package with different
options. Can build this for screen or for paper (forpaper/forcolorpaper). Two
column format for questions, and half the answers on the left, and half on the right.

pmg_d1.tex: The original file constructing during the development of this package. This
puzzle has the famous u-umlaut. Can be compiled with the Forpaper/forcolorpaper
option of web. The layout is designated as“design 1”(d1): questions in center in two column
format and answer on the left and right.

- pmg_dl p.tex: Same as pmg_dl.tex, but set up forpaper/forcolorpaper in
landscape mode.

« pmg_d2_p.tex: Same puzzle/questions as pmg_d1l.tex, but uses the layout desig-
nated as “design 2" (d2): Questions and answer in column format on left and right, puzzle
in the center. This leave a lot of white space in the middle, perhaps for a graphic.

- pmg_d3_p.tex: Same puzzle/questions as pmg_d1l.tex, but uses the layout desig-
nated as “design 3" (d3): Puzzle and questions vertically aligned (questions in two column
format), answer in single column.

-
<
o)
=2
<
=
n
()]
£
©
()




-
<
o)
=2
<
=
n
()]
£
©
()

Section 4: Designing your Puzzle 4

4. Designing your Puzzle

There are several test files that you can use as basis of constructing your own puzzle." The files
themselves illustrate adequately the structure of the puzzle, but a few remarks are in order.

4.1. \DeclarePuzzle

The first step is to have a message, either funny, serious, or whatever. For the purpose of
illustration, suppose your message is “Hello, Jirgen!” This message has all the elements that need
to be discussed, letters, punctuation, spaces, capitalized letters, and accented letters.

\DeclarePuzzle: Use the argument for this command to declare the letters in the puzzle. The
argument consists of a series of paired parameters, the first of each pair is a letter in the puzzle,
a punctuation or a space; and the second in the pair is a name, which is used as a field name for
the underlying form fields.

In the design of the puzzle there are three sets of form fields to manage: checkboxes for the
questions, checkboxes for the answers, and text fields for the puzzle. The checkboxes and puzzle
letter are all tied together by a common base field name, which is the second parameter in the
parameter pairs.

In our puzzle, “Hello, Jiirgen!’, we place the following in preamble:

\DeclarePuzzle

{
{H}H{H}
{eX{e}
{11}
{11
{o}{o}
{,}{punc}
{3{space}
{33
{\texorpdfstring{\"{u}}{\string\3743}}{uml}
{rHr}
{93}
{eHe}
{n}Hn}
{*Hpunc}

For letters, the second parameter in the pair can be the same, as in {H}{H} and {e}{e}.

For punctuation, the first argument is the punctuation mark, the second is a special name punc;
consequently, you see in the above {, }{punc} and {, }{punc}. Punctuation is not part of
the puzzle (though it could be), the macro that ultimately processes this list of paired parameters
looks for the name punc, and handles it appropriately.

"My apologies, this game is more properly described as a matching game with message, but my friend insisted that |
call it a puzzle so that the package could be named Das Puzzle Spiel, or dps, which are my initials. dps
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Section 4: Designing your Puzzle 5

The space character also has a special second parameter space. The space will have a place in
the puzzle, but has no question/answer corresponding to it.

-
@
<

X

il
(o)
(o]

<

2
2
2

Finally, there are the special latin-1 letters. In the puzzle above, | have an u-umlaut. The problem
is that this umlaut appears in two contexts, a TeX and PDF context; the u- umlaut will appear as
typeset content by TeX and will appear as a value of an Acrobat form field. The representation
is different in each context. In this case, use the hyperref command \texorpdfstring. In
above, the first argument of the u-umlaut is \texorpdfstring{\"{u}}{\string\374}.
When typeset, the first argument of \texorpdfstring is used and in the PDF context, the
second argument of \texorpdfstring is used.

Rule: As a general rule, and this rule will be repeated later, there should be one question for each
distinct second argument, that is, for each distinct base name.

In the above example, letters like € and I appear more than once in the puzzle. Note that the
second argument of each of these two €’s is the same. There should be only one for this €, and
when the question associated with e is correctly answered, both €’s in the puzzle will appear.
(If you want a question for each €, then you need to name the fields differently, {e}{el} and
{e}{e2}, for example.)

4.2, Begin composing the questions and answers

Composing: You compose the questions and answers within the Composing environment. At the
top of the environment, certain counters are initialized. All the work is done at the end of the
environment: The number of questions and answers are known, at which point, the order of the
questions and answers are randomized.

cQ and cA: Within the Composing environment, you compose your questions and answers within the
cQ and cA environments, respectively. Each question must be followed by its answer. You can
have more answers than questions, but these answers must be listed last. (The answers will be
randomized anyway.)

Each of these environments has one required argument, and CA has one optional argument. The
required argument is the field name to which this answer corresponds. (The second argument
of the paired arguments of \DeclarePuzzle.)

This optional argument of the cA environment only relevant when the document is compiled
with the showletters option. The value of the argument is a letter to appear in the answers
column. Normally, one of the first entries in the \DeclarePuzzle command is used. Cases
where you would want to include this optional argument are (1) when giving an answer that
does not correspond to a question; (2) the letter is capitalized, suggesting a proper name or the
beginning of a sentence, use the optional argument to list the letter in lower case.

The Composing environment, and the two environments cQ and CA that are contained within
the Composing environment (can) go in the preamble just after the \DeclarePuzzle com-
mand.

When developing questions and answers, you must keep in mind the following rule:

One problem | discovered in the process of developing the demo files is setting up these envi-
ronments so there are no errors.
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Section 4: Designing your Puzzle 6

Rule: As a general rule, and this rule will be repeated later, there should be one question for each
distinct second argument, that is, for each distinct base name.
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Because of human errors, sometimes we have questions/answer pairs that correspond to a
duplicate field name—perhaps this letter occurs multiple times. No, no, that violates the red rule
above. After having made this same error several times, | decided to let TeX do the work for me.

\wr iteComposingEnv: Just after the end of the argument of \DeclarePuzzle, place this com-
mand, like so:

\writeComposingEnv
\begin{document}
\end{document}

Remember, \DeclarePuzzle s in the preamble and the beginning of document has not been
encountered, so lets just put the begin and end document just for the purpose of executing
\wr iteComposingEnv. This command writes the file \Jobname_comp .def. Once this file
is created, copy and paste its contents into your source file. It should look like this:

\begin{Composing}

\begin{cQ}{M}
\end{cQ}
\begin{cA}{M}
\end{cA}

\begin{cQ}{a}
\end{cQ}
\begin{cA}{a}
\end{cA}

\end{Composing}

The correct number of environments should be there, with the correct argument inserted for
each environment. Cool! Now, just compose your questions and answers.

After the file \jJobname_comp.def has been created, delete the \writeComposingEnv
command (and the begin/end document if you included it). This command is not part of the
puzzle, but a helper component.

Another rule.

Rule: You must have one answer per question. Each answer is unique in the list of all answers (no
two answers can be the same). You can have more answers then questions. You can have more
answers than questions (distractions—answers“close”in appearance to the correct answer). Each
of the fake questions must have a unique name.
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Section 5: Placing the Content 7

5. Placing the Content
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The content consists of five parts, plus whatever you wish to include in the document:

1. The title and instructions.

2. The puzzle

3. The questions
4. The answers

5. The message field

Each of these is discussed the the sections that follow.

5.1. The title and instructions

The title and instructions are your bailiwick, see package demo files for suggestions.

5.2. The puzzle

\insertPuzzle{<nCols>}: The puzzle, which consists of the first of the paired arguments declared
in the \DeclarePuzzle command, is laid out in a tabular format. The one required argument
of \insertPuzzleis nCols, the number of columns per row to be used.

If you look at the demo files, you'll see that \insertPuzzle is enclosed in a minipage
environment (and in a \fbox as well). By placing \insertPuzzle you can control the width
of the table, and it may help fit it with the other components of the game.

\PuzzleAppearance: Use this command to change the appearance of the Acrobat text field that
comprise the interactive puzzle. The command takes one argument, this argument consists of

one or more commands from the eForms package that change the appearance of a field. For
example,

\PuzzleAppearance{\BC{1 O O}}

changes the boundary color to red. See the eForms documentation.

\rowsep: By setting \rowsep, you can adjust the vertical space between tabular rows. The commands
takes one argument, the amount of vertical skip, for example,

\rowsep{2ex}
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Section 5: Placing the Content 8

5.3. The questions

\displayRandomizedQuestions: The questions are inserted by this command. This command
must be placed in an enumerate environment. This will number the questions, so when, for
example, the showletters, discussed later, is taken, there is a visual mapping between the
questions, the answers and the puzzle.

If the number of questions is not great, you can list the questions in a single column; however, in
the examples that | have done, I've determined that a two column format (using the multicol
package) seems to me to be the best layout for the questions.

\QuesAppearance: Use this command to change the appearance of the Acrobat checkboxes for the
questions that appear in the label margin. The command takes one argument, this argument
consists of one or more commands from the eForms package that change the appearance of a
field. For example,

\QuesAppearance{\BC{.5 .5 .5}}

changes the boundary color to a gray color. See the eForms documentation.

5.4. The answers

\displayRandomizedAnswers: As with the questions, the answer are displayed in by a similar
command. Again, this command should be in a list environment, preferably the i temize. The
list label is suppressed by placing \item[] before each answer. When the showletters
option is taken, the letter this answer corresponds to will be the label.

One of the design layouts in the demo files has the questions in a two column format in the
center with two columns of answers, half the answers to the left of the questions, and the other
half to the right. The two commands

\displayRandomizedAnswersLeftPanel
\displayRandomizedAnswersRightPanel

are used for that purpose.? As with \displayRandomizedAnswers, each of these com-
mands should be in an itemize environment.

\AnsAppearance: Use this command to change the appearance of the Acrobat checkboxes for the
answers that appear in the label margin. The command takes one argument, this argument
consists of one or more commands from the eForms package that change the appearance of a
field. For example,

\AnsAppearance{\BC{.5 .5 .5}}

changes the boundary color to a gray color. See the eForms documentation.

27X doesn't know his left from his right, so you can actually place the left panel listing on the right. TEX will not object!
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Section 6: Let's have some Fun 9

5.5. The message field

\placeMessageField[<opts>]{<width>}{<height>}: This Acrobat text field is used to write
messages to the user. If the user tries to choose an answer before selecting an answer, s/he gets
the message

"You must choose a question to answer before you answer!"

For the interactive version of this game®, there is a language option for dps to change the
messages from English, the default, to German, for example.

The parameters are width (the width of the text field), height (the height of the text field
and opt (the optional argument for changing the appearance of the field, as described in the
documentation of the eForms package.

The message field is automatically removed when the document is compiled in the forpaper
option of the web package.

6. Let’s have some Fun

In order to make answering the questions “fun’, and in addition to the puzzle (or message), |
implemented a point system. Each time the user checks an incorrect answer, that is recorded as
a miss. After completion of the game, the JavaScript determines if the user has passed the test.
To make it more interesting, a penalty point system is also used: If the user incorrectly answer
the same questions multiple times (guessing!), penalty points are given.

The document author can set the various parameters of this aspect of the game.

\threshold{<n>}: The number, n, of times a person is allowed to miss the same question before
being “awarded” penalty points. The command \threshold with its one argument defines
the command \dsthreshold which expands to the argument, n, of \threshold. Set
\threshold in the preamble, and use \dsthreshold as part of the instructions or descrip-
tion of the game. The defaultis \threshold{3}.

penaltypoints{<n>}: The number, n, of penalty points to be added into the final score. Penalty
points are “awarded” for missing the same question more than the number specified by the ar-
gument of \threshold. The command \penal typoints with its one argument defines the
command \dspenal typoints which expands to the argument, n, of \penaltypoints.
Set \penaltypoints in the preamble, and use \dspenaltypoints as part of the instruc-
tions or description of the game. The default is \penaltypoints{3}.

passing{<n>}: The maximum number, n, of questions the user needs to miss and still pass the test.
Passing or not does not depend on the number of penalty points. The command \passing
with its one argument defines the command \dspassing which expands to the argument, n,
of \passing. Set \passinginthe preamble, and use \dspassing as part of the instructions
or description of the game. The defaultis \passing{4}.

The number of incorrect answers and the total penalty points are combined. Based on the
combined score, a final evaluation of the user’s knowledge on the subject is displayed.

3Does that mean there is also a non-interactive version of this game, sir? Yes, yes there is. dps
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Section 7: Package Options 10

7. Package Options

Here we list the options of package dps.

nonrandomized: The default behavior is to randomize the questions and to randomize the answers.
With this option, the questions and answer are listed in the order that they appear in the
Composing environment. This makes it easy for the document author to quickly solve the
puzzle and to see if the check marks and letters appear as they should.

viewmode: Useful when using a dvi previewer. Here you can see the placement of the puzzle (with the
letters to the puzzle filled in) and the boxes were the checkboxes go. Useful in the designing the
layout of your game phase.

showletters: Sets up a visual relation between the questions, the answers and the puzzle elements.
Useful in design phase, can be used with viewmode.

showanswerkey: Shows the answer key in the footer of the document. If the graphicx package is
loaded, the answer key is rotated 180°. This option is meant to be used when the forpaper
option is taken in the web package.

savedata: Saves two pieces of data: the seed used by the file random.tex to randomly re-
order the questions and answers, and the answer key. These two values are saved to the file
\jobname_data.sav.

« The seed value can be used to reproduce the exact randomization at a later time. Open
the file \Jobname_data. sav in your editor, it might look like this:

Initial seed: \randomi=482053344
Solution Key: 1--e; 2--s; 3--i; 4--u; 5--1; 6--D; 7--a; 8--z; 9--p;

Copy the TeX assignment \randomi=482053344 and paste itin the preamble, just below
the \usepackage{dps} line. This should reproduce the same randomizations.

« The second line in the above verbatim listing is the answer key, for the randomization
initiated by the seed on the first line. You can copy and paste this second line into the
TeX/BIEX document and publish the solution in a separate document, at a later time. This is
useful when publishing for paper.

lang=english]german]custom: Currently, there are only two language options english and
german, with the option of a user create customization. To use the lang=custom op-
tion, you must create the file dps_str_cus.def. Do this by taking dps_str_us.def (or
dps_str_de.def, if you prefer) and copying and changing its name to dps_str_cus.def.
Open dps_str_cus.def in your favorite editor and change the text strings to a language of
your choice, or change the strings that tickle your funny bone more than the ones provided.*
To represent accented characters, use the octal encoding defined in the file pdlenc.def, as
distributed with the hyperref bundle. The u-umlaut, for example, should appear in the file as
\string\374 and notas \""{u}.

40r tickle your funny bone less, if you are a crusty one.
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Section 8: Checking for validity 11

» Foryour convenience, the'Appendix’on page 13 contains a listing of the octal codes for accented
letters.

Here is an important option of web package.

forpaper/forcolorpaper: These are options of the web package, not the dps package. Then this
option is taken, the puzzle created is meant for paper publication. No Acrobat forms will be
created, the showletters option of dps is automatically taken. If you originally designed the
game for the screen, you may have to rework the sizing and design of the game to fit everything
into the constraint of a piece of paper. Landscape is an option to think about, depending on your
design and the number of questions and answers.

8. Checking for validity

When creating the game, human error can sneak in. The most critical part is the \Declare-
Puzzle command and getting the names of your fields set up the way you want. Letters with
the same field name (the second parameter of the pair) will only need one question, they will all
“light up” when the question is answered.

As explained earlier, after you've decided on your puzzle and the field names, you can then create
your Composing environment using the helper command, \wr i teComposingEnv. Review
the discussion in‘Begin composing the questions and answers’on page 5.

To help you lay out your design, use the viewmode option, possibly along with the showletter
option. This gives you a nice preview and you can see where everything is located. You may
have to adjust the parameter for \insertPuzzle to fit the puzzle into the allotted space. If
enclosing puzzle, questions and answer in frames, there may have to be some adjustment of the
depth of the controlling minipage environments, and so on, etc,, etc., etc., and, of course, etc.

Assuming you have successfully posed questions and answers, and designed a layout for your
puzzle, questions, and answers, you are ready to test it. Using the nonrandomized option is
nice for checking your puzzle; the questions and answers are listed in the same order.

If you have customized the text using the lang=custom option, you need to check that your
text displays correctly; this is especially important if your new text contains accented characters,
such as our old friend 0. To test your customized string, open your puzzle document in Acrobat
(Reader will not do here) and execute these JavaScript lines in the console:

this.resetForm(Q)

nMissed = O;
nPenaltyPoints = 0;
nPassing = 4;
checkForFinished(nPassing)

By changing the variables nMissed, nPenaltyPoints and nPassing, and executing, you
get the different messages appearing in the message text field.

To execute from the console, open the console window by pressing Ctr1+J, paste in the code, highlight all the lines
and press the Enter key on the keyboard, or CtrI+Enter on the keypad.
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Section 9: Using the Web Package 12

9. Using the Web Package

10. Thanks

The web package has a many features that can be utilized as a part of your overall puzzle design.

Web has a powerful template management system for inserting background graphics into a
document, and a system for painting the background a color other than the default white.

Use the \margins and \screensize commands to set the dimensions of your puzzle game
page:

\margins{<left>}{<right>}{<top>}{<bottom>}
\screensize{<height>}{<width>}

Enter the title and author’s name, as well as other metadata:

\title{<doc title>}
\author{<doc author>}

See the documentation, webegman . tex, of the AeB for details.

My thanks to Jirgen Gilg, of u-umlaut fame, for his help and kind suggestions during the
development of this game.

That's all for now. Hope you enjoy Das Puzzle Spiel and find it a useful learning tool.

Now, | simply must get back to my retirement. S
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Section 11: Appendix

11. Appendix

13

The following is a subset of the PDFDocEncoding character set for PDF, these are useful for

creating your custom localization file dps_str_cust.def, as discussed in ‘Package Options’

on page 10.

11.1. German Umlaute (dieresis)

Here a little tabular how to substitute the German Umlaute (dieresis) in PD1.

A
5
B

11.2. Accents

\string\304
\string\344
\string\337

O

\string\326

U \string\334
\string\366 | U

\string\374

Here a little tabular how to substitute accents in PD1.

OO0 00 OwI>»u > >

\string\300
\string\340
\string\301
\string\341
\string\302
\string\342
\string\322
\string\362
\string\323
\string\363
\string\324
\string\364

[ eI N e\ e e 0 u o ¢ N s NN TN n 0 2

\string\310
\string\350
\string\311
\string\351
\string\312
\string\352
\string\331
\string\371
\string\332
\string\372
\string\333
\string\373

WY o) D = = = — = —

\string\314
\string\354
\string\315
\string\355
\string\316
\string\356
\string\353
\string\307
\string\347
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dps/dps.dtx

% \iffalse

%<*copyright>

%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%

%% dps.sty package,             2006-10-06              %%

%% Copyright (C) 2006  D. P. Story                      %%

%%   dpstory@acrotex.net                                %%

%%                                                      %%

%% This program can redistributed and/or modified under %%

%% the terms of the LaTeX Project Public License        %%

%% Distributed from CTAN archives in directory          %%

%% macros/latex/base/lppl.txt; either version 1 of the  %%

%% License, or (at your option) any later version.      %%

%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%

%</copyright>

%<package>\NeedsTeXFormat{LaTeX2e}

%<package>\ProvidesPackage{dps}

%<package> [2006/10/06 v.0a Das Puzzle Spiel (dps)]

%<*driver>

\documentclass{ltxdoc}

\usepackage[dviwindo,colorlinks,hyperindex]{hyperref}

\pdfstringdefDisableCommands{\let\\\textbackslash}%

\EnableCrossrefs \CodelineIndex

%\OnlyDescription  % comment out for implementation details

\begin{document}

  \GetFileInfo{dps.sty}

  \title{The \texttt{dps} Package}

  \author{D. P. Story\\

    Email: \texttt{dpstory@uakron.edu}}

  \date{processed \today}

  \maketitle

  \tableofcontents

  \let\Email\texttt

  \DocInput{dps.dtx}

  \PrintIndex

\end{document}

%</driver>

% \fi

%    \begin{macrocode}

%<*package>

%    \end{macrocode}

% \section{Introduction}

% The \textsf{dps} Package (Das Puzzle Spiel) provides the commands to create a matching

% game and associated puzzle.  As the user answers each question, another part of the puzzle

% is filled in.  After the user has correctly answered all the questions, the message contained

% in the puzzle is fully visible.  The user answers the question by first clicking the checkbox

% of that question, reading and solving the question, then by finding the correct answer listed

% amongst the answer columns.  This game was inspired by one of the handout work sheets of my

% son's eighth grade pre-algebra class.

%

% \section{Options}

% We bring in the \textsf{xkeyval} Package so we can gather our options using

% it's commands, rather than the default \textsf{keyval} commands.

%    \begin{macrocode}

\RequirePackage{xkeyval}

%    \end{macrocode}

%    \begin{macro}{nonrandomize}

% The default behavior is to randomize the questions and answers. With this option, the

% questions and answers are listed in the order they were written in the source file; good

% for debugging, and testing the document.

%    \begin{macrocode}

\DeclareOptionX{nonrandomized}{\werandomizefalse}

%    \end{macrocode}

%    \end{macro}

%    \begin{macro}{viewmode}

% Used for developing the puzzle. When \texttt{viewmode} is optioned, the puzzle and letters in

% the puzzle are seen.  By adjusting the argument of \cs{insertPuzzle} you can get the distribution

% of the puzzle that you want. See also the comments preceding the definition of \cs{makeTextField} below.

%    \begin{macrocode}

\DeclareOptionX{viewmode}{\viewModetrue\previewtrue}

%    \end{macrocode}

%    \end{macro}

%    \begin{macro}{showletters}

% When this option is taken, in the answer columns, the letters that the answers correspond to appear;

% and in the puzzle, the question number that corresponds to that letter.  Generally, this is used

% when web is put in \texttt{forpaper} mode, but can be used in ``screen'' mode.

%    \begin{macrocode}

\DeclareOptionX{showletters}{\showletterstrue}

%    \end{macrocode}

%    \end{macro}

%    \begin{macro}{showanswerkey}

% When this option is taken, the solution key appears in the footer. If the

% graphicx package is loaded, the answer key is rotated 180 degrees.  The

% answer key is always computed and saved in the macro \cs{AnswerKey},

%    \begin{macrocode}

\DeclareOptionX{showanswerkey}{\showsolutiontrue}

%    \end{macrocode}

%    \end{macro}

%    \begin{macro}{savedata}

% When this option is taken, the solution key appears in the footer. If the

% graphicx package is loaded, the answer key is rotated 180 degrees.  The

% answer key is always computed and saved in the macro \cs{AnswerKey},

%    \begin{macrocode}

\DeclareOptionX{savedata}{\savepuzzledatatrue}

%    \end{macrocode}

%    \end{macro}

%    \begin{macrocode}

\newif\ifwerandomize \werandomizetrue

\newif\ifviewMode \viewModefalse

\newif\ifshowletters\showlettersfalse

\newif\ifshowsolution\showsolutionfalse

\newif\ifsavepuzzledata\savepuzzledatafalse

\ifeqforpaper\showletterstrue\fi

%    \end{macrocode}

% The only language localizations are the clever commands that appear in the message box.

%    \begin{macro}{lang}

% We offer two language options, \texttt{english} (the default) and \texttt{german}. There

% is a custom option for the author to provide his/her own language localizations.

%    \begin{macrocode}

\define@choicekey*+{dps.sty}{lang}[\val\nr]{english,german,custom}

{%

    \ifcase\nr\relax

        \def\dps@lang@type{\input{dps_str_us.def}}

    \or

        \def\dps@lang@type{\input{dps_str_de.def}}

    \or

        \def\dps@lang@type{\input{dps_str_cus.def}}

    \else

        \def\dps@lang@type{\input{dps_str_us.def}}

    \fi

}{\PackageWarning{dps}{Bad choice for lang, permissible values

are english, german and custom. Try again}}

\def\dps@lang@type{\input{dps_str_us.def}}

%    \end{macrocode}

%    \end{macro}

%    \begin{macrocode}

\AtEndOfPackage{\dps@lang@type}

\ProcessOptionsX

%    \end{macrocode}

% \section{Required Packages}

% In addition to the \textsf{web} and \textsf{eforms} packages, the following are

% used in the macro package.

%    \begin{macrocode}

\RequirePackage{verbatim}

\RequirePackage{calc}

\RequirePackage{multicol}

\input{random.tex}

%    \end{macrocode}

%    \begin{macrocode}

\def\nextrandom{\begingroup

 \ifnum\randomi<\@ne % then initialize with time

    \global\randomi\time

    \global\multiply\randomi388 \global\advance\randomi\year

    \global\multiply\randomi31 \global\advance\randomi\day

    \global\multiply\randomi97 \global\advance\randomi\month

    \message{Randomizer initialized to \the\randomi.}%

    \xdef\ds@saveRandomSeed{\the\randomi}%

    \nextrandom \nextrandom \nextrandom

 \fi

 \count@ii\randomi

 \divide\count@ii 127773 % modulus = multiplier * 127773 + 2836

 \count@\count@ii

 \multiply\count@ii 127773

 \global\advance\randomi-\count@ii % random mod 127773

 \global\multiply\randomi 16807

 \multiply\count@ 2836

 \global\advance\randomi-\count@

 \ifnum\randomi<\z@ \global\advance\randomi 2147483647\relax\fi

 \endgroup

}

%    \end{macrocode}

%

% \section{Switches and things}

%

%    \begin{macrocode}

\newif\ifforquestions \forquestionstrue

\newcount\ds@nCnt

\newcount\ds@nMax

\newcount\ds@qNumber\ds@qNumber=0

\newcount\ds@aNumber\ds@aNumber=0

\newcount\ds@probCnt \ds@probCnt=0

\newcount\ds@nCntCols \ds@nCntCols=0

\newcount\ds@getRanNum

\newtoks\ds@listIn \ds@listIn={}

\newtoks\ds@newListIn \ds@newListIn={}

\newtoks\ds@listOut \ds@listOut={}

\newtoks\ds@tmpToks \ds@tmpToks={}

\newtoks\ds@qlistOut \ds@qlistOut={}

\newtoks\ds@alistOut \ds@alistOut={}

\newwrite \ds@question@write

\ifsavepuzzledata

\newwrite \ds@savedata

\immediate\openout \ds@savedata \jobname_data.sav

\fi

\setlength{\multicolsep}{\topsep}

%    \end{macrocode}

% \section{Main Code}

%    \begin{macro}{\makeTextField}

%    \begin{macro}{\PuzzleAppearance}

% When the user chooses the \texttt{viewmode} option, the underline appear in the puzzle

% with the letter corresponding to that position; otherwise, a Acrobat text field is created.

% Note that for letters what have accents, use the hyperref command \cs{texorpdfstring}

% to give to letters, one for view mode (without accent) and one with accent. See the file

% \texttt{pmg.tex} for an example of this, look for it in the \cs{DeclarePuzzle} command.

%

% The command \cs{PuzzleAppearance} can be used to change the appearance of the text fields for

% the puzzle.

%    \begin{macrocode}

\def\PuzzleAppearance#1{\def\pAppearance{#1}}

\PuzzleAppearance{\W1}

\ifeqforpaper

    \ifviewMode

        \def\makeTextField#1#2{\def\argii{#2}\ifx\argii

            \ds@myspace\let\ds@ul\relax\else\let\ds@ul\underbar\fi

            \ifshowletters\raisebox{-8pt}{%

            \makebox[0pt][l]{\makebox[16bp][c]{%

            \footnotesize\ds@getProbNumber{#1}{#2}}}}\fi

            \ds@ul{\makebox[16bp][c]{\Hy@pdfstringfalse#1}}}

    \else

        \def\makeTextField#1#2{\def\argii{#2}\ifx\argii\ds@myspace

            \let\ds@ul\relax\else\let\ds@ul\underbar\fi

            \ifshowletters\raisebox{-8pt}{%

            \makebox[0pt][l]{\makebox[16bp][c]{%

            \footnotesize\ds@getProbNumber{#1}{#2}}}}\fi

            \ds@ul{\makebox[16bp][c]{\hfil}}}

    \fi

\else

    \ifviewMode

        \def\makeTextField#1#2{\ifshowletters\raisebox{-8pt}{%

            \makebox[0pt][l]{\makebox[16bp][c]{%

            \footnotesize\ds@getProbNumber{#1}{#2}}}}\fi

            \underbar{\makebox[16bp][c]{\Hy@pdfstringfalse#1}}}

    \else

        \def\makeTextField#1#2{\ifshowletters

            \raisebox{-8pt}{\makebox[0pt][l]{\makebox[16bp][c]{%

            \footnotesize\ds@getProbNumber{#1}{#2}}}}\fi

            \edef\textfieldTmp{\noexpand\textField[\noexpand\Q{1}\noexpand\S{U}%

            \noexpand\Ff\noexpand\FfReadOnly\expandafter\noexpand\pAppearance\noexpand\DV{#1}]

            {puzzle.#2}{16bp}{11bp}}\Hy@pdfstringtrue\textfieldTmp}

    \fi

\fi

%    \end{macrocode}

%    \end{macro}

%    \end{macro}

%    \begin{macro}{\DeclarePuzzle}

%    \begin{macro}{\insertPuzzle}

% The puzzle is declare using the \cs{DeclarePuzzle} command. It's argument is a finite

% number of two argument pairs. For example,

%\begin{verbatim}

%\DeclarePuzzle{

%   {H}{H}

%   {e}{e}

%   {l}{l}

%   {l}{l}

%   {o}{o}

%   {,}{punc}

%   {}{space}

%   {J}{J}

%   {\texorpdfstring{\"{u}}{\string\374}}{uml}

%   {g}{g}

%   {e}{e}

%   {n}{n}

%   {!}{punc}

%}

%\end{verbatim}

%The first term of the pair is the letter that appears in the puzzle, in this case, the puzzle is

%``Hello, J\"{u}rgen!''.  Spaces between words are left as empty arguments.  A letter that has

%a special accent can be entered as well; however, for preview mode, use the hyperref command

%\cs{texorpdfstring}, as illustrated in the example above. (The first argument of \cs{texorpdfstring}

%will be typeset when the document is in \texttt{viewmode}, the second argument will be inserted

%into the text field and can be an accented character (it's octal representation).

%

%The second term of each pair will form the base name of the form fields created for this document.

%The second argument must be a JavaScript identifier (basically consist of letters and numbers).

%Puzzle entries with the same second argument will appear simutaneously when the corresponding

%question is answered correctly. For example, the puzzle above has two of the letter `e' and

%to of `l'.  As a result, there are only $8$ distinct form names, so $8$ or more questions are

%needed.

%

%Second terms with the name of \texttt{space} and \texttt{punc} are special cases. A \texttt{space} field

%will be type set as a text field with an empty value (maintaining the spacing of the puzzle); the \texttt{punc}

%name is recognized as a signal for punctuation, and a text field is not generated for it. (Note, you can

%give punctuation a field name other than \texttt{punc}, and a text field will be created, and you'll need

%a question to make that field appear.)

%

% You can have more answers than questions, but you cannot have more questions than answers;

% that is, not questions that have no listed answer and does not correspond to a letter

% in the puzzle.

%    \begin{macrocode}

\def\DeclarePuzzle#1{\gdef\puzzleParameters{#1}}

%    \end{macrocode}

% Use \cs{insertPuzzle} to insert the puzzle at the location desired. The puzzle is placed

% in a tabular environment. The only argument of this command is the number of columns

% you want for this tabular environment. For example, \verb!\insertPuzzle{18}! distributes

% the puzzle so that there are $18$ columns per row, one letter per column.

%    \begin{macrocode}

\def\insertPuzzle#1{\gdef\nCols{#1}%

    \expandafter\aeb@Puzzle\expandafter{\puzzleParameters}}%

%    \end{macrocode}

%    \end{macro}

%    \end{macro}

%    \begin{macro}{\rowsep}

% This command is used to adjust the space between row of the tabular environment

% for the puzzle. The default is \verb!\rowsep{1ex}!.

%    \begin{macrocode}

\def\rowsep#1{\gdef\@rowsep{[#1]}}\rowsep{\rowsep@default}

\def\rowsep@default{1ex}

%    \end{macrocode}

%    \end{macro}

% This code create the tabular environment, creating a new row when necessary,

% and inserts the text field or typesets the puzzle (in the case of \texttt{viewmode}).

%    \begin{macrocode}

\def\eq@tabSep{&}\def\ds@punc{punc}

\def\aeb@Puzzle#1{\edef\eq@tabEnd{\noexpand\\\@rowsep}%

    \aeb@@Puzzle#1\relax\relax}%

\def\aeb@@Puzzle{\begin{tabular*}{\linewidth}{*{\nCols}l}\@aebPuzzlei}%

\def\@aebPuzzlei#1#2{\ifx#1\relax\gdef\nextPuzzleChar{\@aebPuzzleDone}%

    \else\gdef\nextPuzzleChar{\@aebPuzzleii{#1}{#2}}\fi\nextPuzzleChar}%

\def\@aebPuzzleii#1#2{\makeTextField{#1}{#2}\@takeaPeek}

\def\@takeaPeek#1#2{\def\argii{#2}\ifx\argii\ds@punc

    \def\@puzzNext{#1\@setSep@aebPuzzleii}%

    \else\def\@puzzNext{\@setSep@aebPuzzleii{#1}{#2}}\fi\@puzzNext}

\def\@setSep@aebPuzzleii{\global\advance\ds@nCntCols1\relax

    \ifnum\ds@nCntCols=\nCols\expandafter\eq@tabEnd \global\ds@nCntCols=0

    \else\expandafter\eq@tabSep\fi\@aebPuzzlei}%

\def\@aebPuzzleDone{\end{tabular*}\ds@buildAnswerKey}%

%    \end{macrocode}

%    \begin{macro}{\AnswerKey}

% The command \cs{AnswerKey} is defined at the end of the \cs{insertPuzzle} command

% and is available thereafter for insertion into the document. If the \texttt{showanswerkey}

% option is taken, it is displayed at the bottom of the page. If the \texttt{savedata}

% option is taken, the answer key is save to a file along with the random seed that generated

% this answer key. The file name containing the puzzle data is \cs{jobname\_data.sav}.

%    \begin{macrocode}

\def\ds@buildAnswerKey

{%

    {% local

        \count0=0 \toks0={}%

        \loop

            \advance\count0by1

            \xdef\AnswerKey{\the\toks0

            \the\count0--\noexpand\csname dps@probLetter\the\count0\noexpand\endcsname; }%

            \toks0 = \expandafter{\AnswerKey}%

        \ifnum\count0 < \ds@qNumber\repeat

    }%

    \ifshowsolution

        \cfooter{\footnotesize\@ifundefined{rotatebox}{\AnswerKey}%

        {\rotatebox{180}{\AnswerKey}}}%

    \fi

    \ifsavepuzzledata

        \AtEndDocument{\ds@writePuzzleData}%

    \fi

}

\def\ds@writePuzzleData{%

    \let\verbatim@out\ds@savedata

    \dps@IWVO{Initial seed: \string\randomi=\ds@saveRandomSeed}%

    \dps@IWVO{Solution Key: \AnswerKey}%

}

%    \end{macrocode}

%    \end{macro}

% \section{Questions and Answers}

%    \begin{environment}{Composing}

% This is the environments in which the composing of questions and answers are made.

% Use the \texttt{cQ} and \texttt{cA} for this purpose.

%    \begin{macrocode}

\newenvironment{Composing}

{\global\ds@qNumber=0 \global\ds@aNumber=0}

{\aftergroup\ds@publishRandomLists}

%    \end{macrocode}

%    \end{environment}

%    \begin{environment}{cQ}

%    \begin{environment}{cA}

% Here are the two environment for composing questions and answers. The argument

% of each environment corresponds to a form field in the puzzle. Each of these

% environments are verbatim write environments; they write each question and solution

% to a separate \texttt{.cut} file. These individual files are ultimately input

% in a random order.

%    \begin{macrocode}

\newenvironment{cQ}[1]

{%

   \global\advance\ds@qNumber1

   \immediate\openout \ds@question@write \jobname_q\the\ds@qNumber.cut

    \let\verbatim@out\ds@question@write

    \dps@IWVO{\noexpand\dpsQ{#1}}%

    \verbatimwrite}

{%

    \endverbatimwrite

    \immediate\closeout \ds@question@write

}

%    \end{macrocode}

% The cA environment has an optional argument. This optional argument is only used

% when the document is compiled with the showletters option.  The value of the argument

% is a letter to appear in the answers column.  Normally, one of the first entries in the

% \cs{DeclarePuzzle} command is used. Cases where you would want to include this optional

% argument are (1) when giving an answer that does not correspond to a question; (2) the

% letter is capitalized, suggesting a proper name or the beginning of a sentence, use the

% optional argument to list the letter in lower case.

%    \begin{macrocode}

\newenvironment{cA}[2][]

{%

   \def\argi{#1}\global\advance\ds@aNumber1

   \immediate\openout \ds@question@write \jobname_a\the\ds@aNumber.cut

    \let\verbatim@out\ds@question@write

    \let\protect\noexpand

    \dps@IWVO{\noexpand\dpsA\ifshowletters\ifx\argi\@empty\else[#1]\fi\fi{#2}}%

    \verbatimwrite}

{%

    \endverbatimwrite

    \immediate\closeout \ds@question@write

}

%    \end{macrocode}

%    \end{environment}

%    \end{environment}

%    \begin{macro}{\QuesAppearance}

%    \begin{macro}{\AnsAppearance}

% These two commands can be used to change the appearance of the checkboxes for the questions and answers.

% When the \texttt{forpaper} \textsf{web} option is taken, these have no effect.

%    \begin{macrocode}

\def\QuesAppearance#1{\def\qAppearance{#1}}

\def\AnsAppearance#1{\def\aAppearance{#1}}

\QuesAppearance{\W1}

\AnsAppearance{\W1}

%    \end{macrocode}

%    \end{macro}

%    \end{macro}

% The next two commands place the check boxes, the argument is the name of the form

% field that corresponds to one of the letters in the puzzle.

%    \begin{macrocode}

\newcommand{\dpsQ}[1]{\item\relax\ifeqforpaper\else

    \edef\checkboxTmp{\noexpand\checkBox[\expandafter\noexpand\qAppearance

    \noexpand\A{\noexpand\JS{activeQuestion = event.target.name; clearRedCrosses ();}}%

    \noexpand\AA{\noexpand\AAOnFocus{\noexpand\JS{this.resetForm(["ckbxQ"]);}}}]

    {ckbxQ.#1}{14bp}{11bp}{Yes}}\makebox[0pt][r]{\checkboxTmp\enspace}\fi\ignorespaces}

\newcommand{\dpsA}[2][]{\item[]\relax\ifeqforpaper\else

    \edef\checkboxTmp{\noexpand\checkBox[\expandafter\noexpand\aAppearance

    \noexpand\A{\noexpand\JS{processChoice("#2")}}]%

    {ckbxA.#2}{14bp}{11bp}{Yes}}\makebox[0pt][r]{\checkboxTmp\enspace}\fi

    \def\argi{#1}%

        \ifshowletters

            \ifx\argi\@empty

                \let\getLetterNext\relax

                \let\ds@foundLetter=0\def\ds@currFN{#2}%

                \def\getLetterNext{\ds@typesetPuzzleLetter}%

                \expandafter\getLetterNext

            \else

                \makebox[0pt][r]{\Hy@pdfstringfalse#1\enspace\kern4bp}%

            \fi

        \fi

    \ignorespaces

}

\def\ds@typesetPuzzleLetter{%

    \expandafter\typeset@PuzzleLetter\expandafter{\puzzleParameters}}

\def\typeset@PuzzleLetter#1{\typeset@@PuzzleLetter#1\relax\relax}%

\def\typeset@@PuzzleLetter#1#2{\ifx#1\relax\gdef\nextPuzzleLetter{\relax}%

    \else\gdef\nextPuzzleLetter{%

    \typeset@PuzzleLetteri{#1}{#2}}\fi\nextPuzzleLetter}%

\def\typeset@PuzzleLetteri#1#2{\def\argii{#2}\ifx\argii\ds@currFN

    \if\ds@foundLetter0\makebox[0pt][r]{%

        \Hy@pdfstringfalse#1\enspace\kern4bp}\let\ds@foundLetter=1\fi

        \expandafter\typeset@@PuzzleLetter

        \else\expandafter\typeset@@PuzzleLetter\fi}

%    \end{macrocode}

% This command is called at \verb!\end{Composing}!, which, in turn, calls

% the macros \cs{ds@randomizeQuestionList} and \cs{ds@randomizeAnswerList} which randomly

% permutes the \verb!1, 2, ... \the\ds@qNumber! and \verb!1, 2, ... \the\ds@aNumber!,

% where \cs{ds@qNumber} and \cs{ds@aNumber} are the number of questions and answers,

% respectively.

%    \begin{macrocode}

\def\ds@publishRandomLists{%

    \ds@randomizeQuestionList{\the\ds@qNumber}%

    \ds@randomizeAnswerList{\the\ds@aNumber}%

}

\def\ds@myspace{space}

\def\ds@getProbNumber#1#2{%

    \gdef\ds@currentArgi{#1}\gdef\ds@currentArgii{#2}%

    \ifx\ds@currentArgii\ds@myspace\def\ds@probNumNext{\relax}\else

        \def\ds@probNumNext{%

            \@ifundefined{dps@probNum#2}{\global\advance\ds@probCnt1

% \typeout{\ds@probCnt = \the\ds@probCnt}%

                \ds@@getProbNumber{\the\ds@probCnt}%

            }{\csname dps@probNum#2\endcsname}%

    }%

    \fi

    \ds@probNumNext

}

\def\ds@@getProbNumber#1{{\count0=0 \let\\=\ds@getNthOne\the\ds@qlistOut}%

    \csname dps@probNum\ds@currentArgii\endcsname}

\def\ds@getNthOne#1{\advance\count0by1

    \ifnum\ds@probCnt=#1

        \expandafter

            \xdef\csname dps@probNum\ds@currentArgii\endcsname

                {\the\count0 }%

%\typeout{\the\count0, and \ds@currentArgi}%

        \expandafter

            \xdef\csname dps@probLetter\the\count0\endcsname

                {\expandafter\noexpand\ds@currentArgi}%

    \fi

}

%    \end{macrocode}

%    \begin{macro}{\writeComposingEnv}

% This is a helper macro.  After you declare your puzzle, \cs{DeclarePuzzle},

% you can place this command just after, if needed, like so

%\begin{verbatim}

%\writeComposingEnv

%\begin{document}

%\end{document}

%\end{verbatim}

%In the case where \cs{DeclarePuzzle} is in the preamble; above, we begin the doc

% and end the doc; assuming you have not developed your questions yet. The command

% writes to the file \cs{jobname\_comp.def}. This file will be a skeleton of your

% Composing environment, with correct labeling. Copy and paste it into your document

% in some appropriate location, and begin writing your questions.

%    \begin{macrocode}

\def\writeComposingEnv{%

    \newwrite \ds@composing@write

    \immediate\openout \ds@composing@write \jobname_comp.def

    \let\verbatim@out\ds@composing@write

    \dps@IWVO{\string\begin{Composing}}%

    \dps@IWVO{}%

    \expandafter\write@ComposingEnv\expandafter{\puzzleParameters}%

}

\def\write@ComposingEnv#1{\write@@ComposingEnv#1\relax\relax}%

\def\write@@ComposingEnv#1#2{\ifx#1\relax

    \gdef\nextPuzzlePair{%

    \dps@IWVO{\string\end{Composing}}%

    \immediate\closeout \ds@composing@write}%

    \else\gdef\nextPuzzlePair{\write@@@ComposingEnv{#1}{#2}}\fi

    \nextPuzzlePair}%

\def\write@@@ComposingEnv#1#2{%

    \gdef\ds@currentArgi{#1}\gdef\ds@currentArgii{#2}%

    \ifx\ds@currentArgii\ds@myspace\def\ds@probNumNext{\write@@ComposingEnv}\else

    \ifx\ds@currentArgii\ds@punc\def\ds@probNumNext{\write@@ComposingEnv}\else

        \def\ds@probNumNext{%

            \@ifundefined{dps@compQ#2}{% write to file

            \expandafter\gdef\csname dps@compQ#2\endcsname{found}%

            \dps@IWVO{\string\begin{cQ}{\noexpand#1}}%

            \dps@IWVO{\string\end{cQ}}%

            \dps@IWVO{\string\begin{cA}{\noexpand#1}}%

            \dps@IWVO{\string\end{cA}}%

            \dps@IWVO{}%

            }{}%

            \write@@ComposingEnv

        }%

    \fi\fi

    \ds@probNumNext

}

%    \end{macrocode}

%    \end{macro}

% A standard \cs{verbatim} write used in exerquiz and other package in the AeB family.

%    \begin{macrocode}

\def\verbatimwrite{\@bsphack

    \let\do\@makeother\dospecials

    \catcode`\^^M\active \catcode`\^^I=12

    \def\verbatim@processline{%

        \immediate\write\verbatim@out

        {\the\verbatim@line}}%

    \verbatim@start}

\def\endverbatimwrite{\@esphack}

\def\dps@IWVO{\immediate\write\verbatim@out}

%    \end{macrocode}

% \cs{ds@populateList} is a utility command, its argument is a positive integer, \texttt{n},

% and it generates a list of the form \verb!\\{1}\\{2}...\\{n}!. This listing is later

% randomly permuted by \cs{ds@randomizeQuestionList} and \cs{ds@randomizeAnswerList}.

%    \begin{macrocode}

\def\ds@populateList#1{%

    \ds@listIn = {}%

    \ds@nCnt=0

    \@whilenum \ds@nCnt < #1\do {%

        \advance\ds@nCnt1

        \edef\ds@listInHold{\the\ds@listIn\noexpand\\{\the\ds@nCnt}}%

        \ds@listIn = \expandafter{\ds@listInHold}%

    }%

}

%    \end{macrocode}

% Used in \cs{@randomizeList} to build the permuted list of numbers.

%    \begin{macrocode}

\def\ds@processi#1{\advance\ds@nCnt1

    \ifnum\ds@nCnt=\ds@getRanNum\edef\ds@listOutHold{\the\ds@listOut}%

        \global\ds@listOut=\expandafter{\ds@listOutHold\\{#1}}%

    \else

        \edef\ds@listInHold{\the\ds@newListIn}%

        \ds@tmpToks = \expandafter{\ds@listInHold\\{#1}}%

        \ds@newListIn = \expandafter{\the\ds@tmpToks}%

    \fi

}

%    \end{macrocode}

% Used in \cs{displayRandomizedQuestions} to input the questions.

%    \begin{macrocode}

\def\ds@processii#1{\input{\jobname_q#1.cut}}

%    \end{macrocode}

% Used in \cs{displayRandomizedAnswers} to input the answers.

%    \begin{macrocode}

\def\ds@processiii#1{\input{\jobname_a#1.cut}}

%    \end{macrocode}

% Used in \cs{displayRandomizedAnswersLeftPanel} to input the top half

% of the permuted list.

%    \begin{macrocode}

\def\ds@processL#1{\advance\count0by1 %\divide\ds@aNumber2

    \ifnum\count0>\ds@aNumber\relax\else\input{\jobname_a#1.cut}\fi}

%    \end{macrocode}

% Used in \cs{displayRandomizedAnswersRightPanel} to input the bottom half

% of the permuted list.

%    \begin{macrocode}

\def\ds@processR#1{\advance\count0by1 %\divide\ds@aNumber2

    \ifnum\count0>\ds@aNumber\relax\input{\jobname_a#1.cut}\fi}

%    \end{macrocode}

%    \begin{macro}{\displayRandomizedQuestions}

%    \begin{macro}{\displayRandomizedAnswers}

%    \begin{macro}{\displayRandomizedAnswersLeftPanel}

%    \begin{macro}{\displayRandomizedAnswersRightPanel}

% These are user commands that actually display the randomized questions

% and answers.

%    \begin{macrocode}

\def\displayRandomizedQuestions{\let\\=\ds@processii\the\ds@qlistOut}

\def\displayRandomizedAnswers{\let\\=\ds@processiii\the\ds@alistOut}

\def\displayRandomizedAnswersLeftPanel{{\let\\=\ds@processL\count0=0

    \divide\ds@aNumber2 \the\ds@alistOut}}

\def\displayRandomizedAnswersRightPanel{{\let\\=\ds@processR\count0=0

    \divide\ds@aNumber2 \the\ds@alistOut}}

%    \end{macrocode}

%    \end{macro}

%    \end{macro}

%    \end{macro}

%    \end{macro}

% Develop a random permuted list for the questions.

%    \begin{macrocode}

\def\ds@randomizeQuestionList#1{%

    \global\ds@listIn={}\global\ds@newListIn={}\global\ds@listOut={}%

    \global\ds@tmpToks={}%\global\ds@qlistOut={}\global\ds@alistOut={}%

    \ds@nMax=#1\relax\ds@populateList{\the\ds@nMax}%

    \global\forquestionstrue

    \ifwerandomize

        \expandafter\ds@randomizeList

    \else

%        \global\let\ds@qlistOut=\ds@listIn

        \global\ds@qlistOut=\expandafter{\the\ds@listIn}

    \fi

}

%    \end{macrocode}

% Develop a random permuted list for the answers. Note that \cs{ifwerandomize}

% we randomize, else, the output list is the same as the input list.

%    \begin{macrocode}

\def\ds@randomizeAnswerList#1{%

    \global\ds@listIn={}\global\ds@newListIn={}\global\ds@listOut={}%

    \global\ds@tmpToks={}%\global\ds@qlistOut={}\global\ds@alistOut={}%

    \ds@nMax=#1\relax\ds@populateList{\the\ds@nMax}%

    \global\forquestionsfalse

    \ifwerandomize

%       \nextrandom \nextrandom \nextrandom

        \expandafter\ds@randomizeList

    \else

%        \global\let\ds@alistOut=\ds@listIn

        \global\ds@alistOut=\expandafter{\the\ds@listIn}%

    \fi

}

%    \end{macrocode}

% The loop that does all the work for randomizing.

%    \begin{macrocode}

\def\ds@randomizeList{%

    \let\\=\ds@processi

    \setrannum{\ds@getRanNum}{1}{\ds@nMax}%

    \ds@nCnt=0 %

%    \typeout{LISTIN: \the\ds@listIn}%

    \the\ds@listIn

    \ds@loopTest

}

%    \end{macrocode}

% The loop that does all the work for randomizing.

%    \begin{macrocode}

\def\ds@loopTest{\advance\ds@nMax-1

    \ifnum\ds@nMax>0\relax

        \def\@next{%

            \ds@listIn=\expandafter{\the\ds@newListIn}%

            \ds@newListIn={}\ds@randomizeList}%

    \else

        \let\@next\relax

        \ifforquestions

            \global\ds@qlistOut=\expandafter{\the\ds@listOut}%

%            \typeout{\ds@qlistOut = \the\ds@qlistOut}%

        \else

%            \global\ds@alistOut=\expandafter{\@tmp}

            \global\ds@alistOut=\expandafter{\the\ds@listOut}%

%            \typeout{\ds@alistOut = \the\ds@alistOut}%

        \fi

    \fi

    \@next

}

%    \end{macrocode}

%    \begin{macro}{\placeMessageField}

% The command inserts the required message field. The optional

% first parameters enables the author to change the appearance

% of the field, the second two required arguments are the width

% and the height of the text field.

%    \begin{macrocode}

\newcommand{\placeMessageField}[3][]{%

    \ifeqforpaper\else\textField[#1\Ff\FfMultiline]{report}{#2}{#3}\fi

}

%    \end{macrocode}

%    \end{macro}

% \section{Miscellaneous Settings}

%    \begin{macro}{\threshold}

%    \begin{macro}{\penaltypoints}

%    \begin{macro}{\passing}

% Threshold for number of incorrect answers for trying to answer one question.

% If the threshold is exceeded, \cs{dspenaltypoints} are added to the final

% points. Passing is missing no more than \cs{dspassing}.

%    \begin{macrocode}

\newcommand{\threshold}[1]{\def\dsthreshold{#1}}

\threshold{3}

\newcommand{\penaltypoints}[1]{\def\dspenaltypoints{#1}}

\penaltypoints{3}

\newcommand{\passing}[1]{\def\dspassing{#1}}

\passing{4}

%    \end{macrocode}

%    \end{macro}

%    \end{macro}

%    \end{macro}

%    \begin{macrocode}

%</package>

%    \end{macrocode}

% \section{Language Cutomizations}

%    \begin{macrocode}

%<*english>

\def\chooseQ{"You must choose a question to answer before you answer!"}

\def\triedTooMuch{"You have tried this problem too many times, I'm adding "

    + \dspenaltypoints

    + " points, and resetting the penalty counter. Bad boy/girl!"}

\def\congratFinished{"Congratulations! You finished the puzzle"

        +((nMissed==0) ? " without missing a single problem, amazing!"

        : ", but you missed " + nMissed + " questions in the process!")}

\def\regretPleased{(( nMissed > n )

        ? "I regret to report that you did not pass the test because you missed too many questions."

        : "I am pleased to report that you passed the test!")}

\def\reportPenaltyPoints{"The number of penalty points is " + nPenaltyPoints +"."}

\def\finalPenaltyScore{"Final penalty score is " + nTotalPenaltyPoints + ". "}

\def\aPenaltyScale{[-1,0], [0,4], [4, 10], [10,25], [25,5000]}

\def\aPenaltyMsgs

{%

    "Perfect!",

    "Very nice performance!",

    "This is not looking good. Perhaps a review is in order!",

    "Are you trying? No one could do so badly, you only need a seventh grade education!",

    "You're hopeless!"

}

%</english>

%<*german>

\def\chooseQ{"Du musst erst eine Frage ausw\string\344hlen bevor Du antwortest!"}

\def\triedTooMuch{"Du hast es leider zu oft versucht, ich z\string\344hle  "

    + \dspenaltypoints

    + " Punkte dazu und setze den Z\string\344hler dann zur\string\374ck. Bitte streng Dich an!"}

\def\congratFinished{"Herzlichen Gl\string\374ckwunsch! Du hast das Puzzle beendet"

        +((nMissed==0) ? "  ohne auch nur einen Fehler zu machen, wunderbar!"

        : ", aber leider " + nMissed + " Mal falsch geantwortet!")}

\def\regretPleased{(( nMissed > n )

        ? "Ich bedauere Dir mitteilen zu m\string\374ssen, dass Du den Test leider nicht bestanden hast, weil Du zu viele Fragen falsch beantwortet hast."

        : "Ich bin \string\344usserst erfreut Dir mitteilen zu d\string\374rfen, dass Du den Test bestanden hast!")}

\def\reportPenaltyPoints{"Die Anzahl der Strafpunkte ist  " + nPenaltyPoints +"."}

\def\finalPenaltyScore{"Die Gesamtanzahl der Strafpunkte ist damit " + nTotalPenaltyPoints + ". "}

\def\aPenaltyScale{[-1,0], [0,4], [4, 10], [10,25], [25,5000]}

\def\aPenaltyMsgs

{%

    "Perfekt!",

    "Sehr gute Vorstellung!",

    "Es sieht nicht sonderlich gut aus. Vielleicht w\string\344re eine Wiederholung gut!",

    "R\string\344tst Du eigentlich nur? Niemand kann wirklich so schlecht sein. Das ist Stoff aus der siebten Klasse!",

    "Du bist ein hoffnungsloser Fall!"

}

%</german>

%    \end{macrocode}

% \section{JavaScript Support}

%    \begin{macrocode}

%<*package>

\begin{insDLJS}[processChoice]{match}{JS Update of Matching Puzzle}

var missesByQuestion = new Array();

var nMissed = 0;

var nPenaltyPoints = 0;

var activeQuestion = "";

function processChoice(fieldname)

{

    // Get the question field that corresponds to this question,

    // see if checked.

    var f = this.getField("ckbxQ."+fieldname);

    if ( (f != null) && (f.isBoxChecked(0)) ) { // right

        clearRedCrosses ();

        this.resetForm(["puzzle."+fieldname]);

        event.target.textColor = ["RGB", 0, 0.6, 0];

        f.strokeColor = ["RGB", 0, 0.6, 0];

        f.readonly = true;

        event.target.readonly=true;

        checkForFinished(\dspassing);

    } else { // wrong

        if ( activeQuestion != "" ) var h = this.getField(activeQuestion);

        if ( (activeQuestion=="") || (h.readonly) ) { // active question already answered

            event.target.value = "Off";

            var g = this.getField("report");

            str = \chooseQ;

            g.value = str;

            var to = app.setTimeOut("clearMessages()", 2000);

        } else {

            event.target.style = style.cr;

            event.target.textColor = color.red;

            ++nMissed;

            if ( typeof missesByQuestion[activeQuestion] !="number" )

                missesByQuestion[activeQuestion] = 1;

            else

                missesByQuestion[activeQuestion] += 1;

            if (missesByQuestion[activeQuestion] > \dsthreshold) {

                var f = this.getField("report");

                str = \triedTooMuch;

                f.value = str;

                nPenaltyPoints += \dspenaltypoints;

                missesByQuestion[activeQuestion] = 0;

                clearRedCrosses ();

                var to = app.setTimeOut("clearMessages()", 2000)

            }

        }

    }

}

function clearMessages()

{

    var f = this.getField("report");

    f.value = "";

}

function clearRedCrosses ()

{

    var g = this.getField("ckbxA");

    h = g.getArray();

    for ( i=0; i < h.length; i++) {

        if ( h[i].style == style.cr) h[i].checkThisBox(0,false);

        h[i].style = style.ch;

    }

 }

function checkForFinished(n)

{

    var f = this.getField("puzzle");

    var g = f.getArray();

    var anyEmpty = false;

    for ( var i=0; i < g.length; i++) {

        if ( (g[i].name != "puzzle.space") && (g[i].value.replace(/\s/g,"") == "") ) {

            anyEmpty = true;

            break;

        }

    }

    var nTotalPenaltyPoints=nMissed + nPenaltyPoints;

    if ( !anyEmpty ) {

        var f = this.getField("report");

        str = \congratFinished

        + "\n" + \regretPleased

        + "\n" + \reportPenaltyPoints

        + "\n" + \finalPenaltyScore

        + " " + finalRating(nTotalPenaltyPoints);

        f.value = str;

    }

}

function finalRating(n) {

    var aPenaltyScale = new Array( \aPenaltyScale\space);

    var aPenaltyMsgs = new Array( \aPenaltyMsgs\space);

    for ( var i=0; i<aPenaltyScale.length; i++)

        if ( (n > aPenaltyScale[i][0]) && (n <= aPenaltyScale[i][1]) )

            return aPenaltyMsgs[i];

}

\end{insDLJS}

%</package>

%    \end{macrocode}

%  \Finale

\endinput








dps/dps.ins

%%

%% This file will generate fast loadable files and documentation

%% driver files from the doc files in this package when run through

%% LaTeX or TeX.

%%

%% Copyright 1999-2006 D. P. Story

%%

%% This file is part of the `AcroTeX eDucation Bundle'.

%% -------------------------------------------

%%

%% It may be distributed under the conditions of the LaTeX Project Public

%% License, either version 1.2 of this license or (at your option) any

%% later version.  The latest version of this license is in

%%    http://www.latex-project.org/lppl.txt

%% and version 1.2 or later is part of all distributions of LaTeX

%% version 1999/12/01 or later.

%%

%% --------------- start of docstrip commands ------------------

%%

\def\filedate{2001/05/26}

\def\batchfile{dps.ins}

%

\input docstrip

\ifx\generate\undefined

  \Msg{**********************************************}

  \Msg{*}

  \Msg{* This installation requires docstrip}

  \Msg{* version 2.4 or later.}

  \Msg{*}

  \Msg{* An older version of docstrip has been input}

  \Msg{*}

  \Msg{**********************************************}

  \errhelp{Move or rename old docstrip.tex and get a newer one.}

  \errmessage{Old docstrip in input path}

  \batchmode

  \csname @@end\endcsname\end

\fi



\keepsilent

\askforoverwritefalse

%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%



\preamble

\endpreamble

\generate

{%

    \file{dps.sty}{\from{dps.dtx}{copyright,package}}

    \file{dps_str_us.def}{\from{dps.dtx}{copyright,english}}

    \file{dps_str_de.def}{\from{dps.dtx}{copyright,german}}

}



\Msg{***************************************************************}

\Msg{*}

\Msg{* \space To finish the installation you have to copy the files }

\Msg{*}

\Msg{* \space *.sty, *.cfg and *.def into a directory searched by TeX}

\Msg{*}

\Msg{***************************************************************}



%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%

\endinput








dps/dps.sty

%%

%% This is file `dps.sty',

%% generated with the docstrip utility.

%%

%% The original source files were:

%%

%% dps.dtx  (with options: `copyright,package')

%% 

%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%

%% dps.sty package,             2006-10-06              %%

%% Copyright (C) 2006  D. P. Story                      %%

%%   dpstory@acrotex.net                                %%

%%                                                      %%

%% This program can redistributed and/or modified under %%

%% the terms of the LaTeX Project Public License        %%

%% Distributed from CTAN archives in directory          %%

%% macros/latex/base/lppl.txt; either version 1 of the  %%

%% License, or (at your option) any later version.      %%

%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%

\NeedsTeXFormat{LaTeX2e}

\ProvidesPackage{dps}

 [2006/10/06 v.0a Das Puzzle Spiel (dps)]

\RequirePackage{xkeyval}

\DeclareOptionX{nonrandomized}{\werandomizefalse}

\DeclareOptionX{viewmode}{\viewModetrue\previewtrue}

\DeclareOptionX{showletters}{\showletterstrue}

\DeclareOptionX{showanswerkey}{\showsolutiontrue}

\DeclareOptionX{savedata}{\savepuzzledatatrue}

\newif\ifwerandomize \werandomizetrue

\newif\ifviewMode \viewModefalse

\newif\ifshowletters\showlettersfalse

\newif\ifshowsolution\showsolutionfalse

\newif\ifsavepuzzledata\savepuzzledatafalse

\ifeqforpaper\showletterstrue\fi

\define@choicekey*+{dps.sty}{lang}[\val\nr]{english,german,custom}

{%

    \ifcase\nr\relax

        \def\dps@lang@type{\input{dps_str_us.def}}

    \or

        \def\dps@lang@type{\input{dps_str_de.def}}

    \or

        \def\dps@lang@type{\input{dps_str_cus.def}}

    \else

        \def\dps@lang@type{\input{dps_str_us.def}}

    \fi

}{\PackageWarning{dps}{Bad choice for lang, permissible values

are english, german and custom. Try again}}

\def\dps@lang@type{\input{dps_str_us.def}}

\AtEndOfPackage{\dps@lang@type}

\ProcessOptionsX

\RequirePackage{verbatim}

\RequirePackage{calc}

\RequirePackage{multicol}

\input{random.tex}

\def\nextrandom{\begingroup

 \ifnum\randomi<\@ne % then initialize with time

    \global\randomi\time

    \global\multiply\randomi388 \global\advance\randomi\year

    \global\multiply\randomi31 \global\advance\randomi\day

    \global\multiply\randomi97 \global\advance\randomi\month

    \message{Randomizer initialized to \the\randomi.}%

    \xdef\ds@saveRandomSeed{\the\randomi}%

    \nextrandom \nextrandom \nextrandom

 \fi

 \count@ii\randomi

 \divide\count@ii 127773 % modulus = multiplier * 127773 + 2836

 \count@\count@ii

 \multiply\count@ii 127773

 \global\advance\randomi-\count@ii % random mod 127773

 \global\multiply\randomi 16807

 \multiply\count@ 2836

 \global\advance\randomi-\count@

 \ifnum\randomi<\z@ \global\advance\randomi 2147483647\relax\fi

 \endgroup

}

\newif\ifforquestions \forquestionstrue

\newcount\ds@nCnt

\newcount\ds@nMax

\newcount\ds@qNumber\ds@qNumber=0

\newcount\ds@aNumber\ds@aNumber=0

\newcount\ds@probCnt \ds@probCnt=0

\newcount\ds@nCntCols \ds@nCntCols=0

\newcount\ds@getRanNum

\newtoks\ds@listIn \ds@listIn={}

\newtoks\ds@newListIn \ds@newListIn={}

\newtoks\ds@listOut \ds@listOut={}

\newtoks\ds@tmpToks \ds@tmpToks={}

\newtoks\ds@qlistOut \ds@qlistOut={}

\newtoks\ds@alistOut \ds@alistOut={}

\newwrite \ds@question@write

\ifsavepuzzledata

\newwrite \ds@savedata

\immediate\openout \ds@savedata \jobname_data.sav

\fi

\setlength{\multicolsep}{\topsep}

\def\PuzzleAppearance#1{\def\pAppearance{#1}}

\PuzzleAppearance{\W1}

\ifeqforpaper

    \ifviewMode

        \def\makeTextField#1#2{\def\argii{#2}\ifx\argii

            \ds@myspace\let\ds@ul\relax\else\let\ds@ul\underbar\fi

            \ifshowletters\raisebox{-8pt}{%

            \makebox[0pt][l]{\makebox[16bp][c]{%

            \footnotesize\ds@getProbNumber{#1}{#2}}}}\fi

            \ds@ul{\makebox[16bp][c]{\Hy@pdfstringfalse#1}}}

    \else

        \def\makeTextField#1#2{\def\argii{#2}\ifx\argii\ds@myspace

            \let\ds@ul\relax\else\let\ds@ul\underbar\fi

            \ifshowletters\raisebox{-8pt}{%

            \makebox[0pt][l]{\makebox[16bp][c]{%

            \footnotesize\ds@getProbNumber{#1}{#2}}}}\fi

            \ds@ul{\makebox[16bp][c]{\hfil}}}

    \fi

\else

    \ifviewMode

        \def\makeTextField#1#2{\ifshowletters\raisebox{-8pt}{%

            \makebox[0pt][l]{\makebox[16bp][c]{%

            \footnotesize\ds@getProbNumber{#1}{#2}}}}\fi

            \underbar{\makebox[16bp][c]{\Hy@pdfstringfalse#1}}}

    \else

        \def\makeTextField#1#2{\ifshowletters

            \raisebox{-8pt}{\makebox[0pt][l]{\makebox[16bp][c]{%

            \footnotesize\ds@getProbNumber{#1}{#2}}}}\fi

            \edef\textfieldTmp{\noexpand\textField[\noexpand\Q{1}\noexpand\S{U}%

            \noexpand\Ff\noexpand\FfReadOnly\expandafter\noexpand\pAppearance\noexpand\DV{#1}]

            {puzzle.#2}{16bp}{11bp}}\Hy@pdfstringtrue\textfieldTmp}

    \fi

\fi

\def\DeclarePuzzle#1{\gdef\puzzleParameters{#1}}

\def\insertPuzzle#1{\gdef\nCols{#1}%

    \expandafter\aeb@Puzzle\expandafter{\puzzleParameters}}%

\def\rowsep#1{\gdef\@rowsep{[#1]}}\rowsep{\rowsep@default}

\def\rowsep@default{1ex}

\def\eq@tabSep{&}\def\ds@punc{punc}

\def\aeb@Puzzle#1{\edef\eq@tabEnd{\noexpand\\\@rowsep}%

    \aeb@@Puzzle#1\relax\relax}%

\def\aeb@@Puzzle{\begin{tabular*}{\linewidth}{*{\nCols}l}\@aebPuzzlei}%

\def\@aebPuzzlei#1#2{\ifx#1\relax\gdef\nextPuzzleChar{\@aebPuzzleDone}%

    \else\gdef\nextPuzzleChar{\@aebPuzzleii{#1}{#2}}\fi\nextPuzzleChar}%

\def\@aebPuzzleii#1#2{\makeTextField{#1}{#2}\@takeaPeek}

\def\@takeaPeek#1#2{\def\argii{#2}\ifx\argii\ds@punc

    \def\@puzzNext{#1\@setSep@aebPuzzleii}%

    \else\def\@puzzNext{\@setSep@aebPuzzleii{#1}{#2}}\fi\@puzzNext}

\def\@setSep@aebPuzzleii{\global\advance\ds@nCntCols1\relax

    \ifnum\ds@nCntCols=\nCols\expandafter\eq@tabEnd \global\ds@nCntCols=0

    \else\expandafter\eq@tabSep\fi\@aebPuzzlei}%

\def\@aebPuzzleDone{\end{tabular*}\ds@buildAnswerKey}%

\def\ds@buildAnswerKey

{%

    {% local

        \count0=0 \toks0={}%

        \loop

            \advance\count0by1

            \xdef\AnswerKey{\the\toks0

            \the\count0--\noexpand\csname dps@probLetter\the\count0\noexpand\endcsname; }%

            \toks0 = \expandafter{\AnswerKey}%

        \ifnum\count0 < \ds@qNumber\repeat

    }%

    \ifshowsolution

        \cfooter{\footnotesize\@ifundefined{rotatebox}{\AnswerKey}%

        {\rotatebox{180}{\AnswerKey}}}%

    \fi

    \ifsavepuzzledata

        \AtEndDocument{\ds@writePuzzleData}%

    \fi

}

\def\ds@writePuzzleData{%

    \let\verbatim@out\ds@savedata

    \dps@IWVO{Initial seed: \string\randomi=\ds@saveRandomSeed}%

    \dps@IWVO{Solution Key: \AnswerKey}%

}

\newenvironment{Composing}

{\global\ds@qNumber=0 \global\ds@aNumber=0}

{\aftergroup\ds@publishRandomLists}

\newenvironment{cQ}[1]

{%

   \global\advance\ds@qNumber1

   \immediate\openout \ds@question@write \jobname_q\the\ds@qNumber.cut

    \let\verbatim@out\ds@question@write

    \dps@IWVO{\noexpand\dpsQ{#1}}%

    \verbatimwrite}

{%

    \endverbatimwrite

    \immediate\closeout \ds@question@write

}

\newenvironment{cA}[2][]

{%

   \def\argi{#1}\global\advance\ds@aNumber1

   \immediate\openout \ds@question@write \jobname_a\the\ds@aNumber.cut

    \let\verbatim@out\ds@question@write

    \let\protect\noexpand

    \dps@IWVO{\noexpand\dpsA\ifshowletters\ifx\argi\@empty\else[#1]\fi\fi{#2}}%

    \verbatimwrite}

{%

    \endverbatimwrite

    \immediate\closeout \ds@question@write

}

\def\QuesAppearance#1{\def\qAppearance{#1}}

\def\AnsAppearance#1{\def\aAppearance{#1}}

\QuesAppearance{\W1}

\AnsAppearance{\W1}

\newcommand{\dpsQ}[1]{\item\relax\ifeqforpaper\else

    \edef\checkboxTmp{\noexpand\checkBox[\expandafter\noexpand\qAppearance

    \noexpand\A{\noexpand\JS{activeQuestion = event.target.name; clearRedCrosses ();}}%

    \noexpand\AA{\noexpand\AAOnFocus{\noexpand\JS{this.resetForm(["ckbxQ"]);}}}]

    {ckbxQ.#1}{14bp}{11bp}{Yes}}\makebox[0pt][r]{\checkboxTmp\enspace}\fi\ignorespaces}

\newcommand{\dpsA}[2][]{\item[]\relax\ifeqforpaper\else

    \edef\checkboxTmp{\noexpand\checkBox[\expandafter\noexpand\aAppearance

    \noexpand\A{\noexpand\JS{processChoice("#2")}}]%

    {ckbxA.#2}{14bp}{11bp}{Yes}}\makebox[0pt][r]{\checkboxTmp\enspace}\fi

    \def\argi{#1}%

        \ifshowletters

            \ifx\argi\@empty

                \let\getLetterNext\relax

                \let\ds@foundLetter=0\def\ds@currFN{#2}%

                \def\getLetterNext{\ds@typesetPuzzleLetter}%

                \expandafter\getLetterNext

            \else

                \makebox[0pt][r]{\Hy@pdfstringfalse#1\enspace\kern4bp}%

            \fi

        \fi

    \ignorespaces

}

\def\ds@typesetPuzzleLetter{%

    \expandafter\typeset@PuzzleLetter\expandafter{\puzzleParameters}}

\def\typeset@PuzzleLetter#1{\typeset@@PuzzleLetter#1\relax\relax}%

\def\typeset@@PuzzleLetter#1#2{\ifx#1\relax\gdef\nextPuzzleLetter{\relax}%

    \else\gdef\nextPuzzleLetter{%

    \typeset@PuzzleLetteri{#1}{#2}}\fi\nextPuzzleLetter}%

\def\typeset@PuzzleLetteri#1#2{\def\argii{#2}\ifx\argii\ds@currFN

    \if\ds@foundLetter0\makebox[0pt][r]{%

        \Hy@pdfstringfalse#1\enspace\kern4bp}\let\ds@foundLetter=1\fi

        \expandafter\typeset@@PuzzleLetter

        \else\expandafter\typeset@@PuzzleLetter\fi}

\def\ds@publishRandomLists{%

    \ds@randomizeQuestionList{\the\ds@qNumber}%

    \ds@randomizeAnswerList{\the\ds@aNumber}%

}

\def\ds@myspace{space}

\def\ds@getProbNumber#1#2{%

    \gdef\ds@currentArgi{#1}\gdef\ds@currentArgii{#2}%

    \ifx\ds@currentArgii\ds@myspace\def\ds@probNumNext{\relax}\else

        \def\ds@probNumNext{%

            \@ifundefined{dps@probNum#2}{\global\advance\ds@probCnt1

                \ds@@getProbNumber{\the\ds@probCnt}%

            }{\csname dps@probNum#2\endcsname}%

    }%

    \fi

    \ds@probNumNext

}

\def\ds@@getProbNumber#1{{\count0=0 \let\\=\ds@getNthOne\the\ds@qlistOut}%

    \csname dps@probNum\ds@currentArgii\endcsname}

\def\ds@getNthOne#1{\advance\count0by1

    \ifnum\ds@probCnt=#1

        \expandafter

            \xdef\csname dps@probNum\ds@currentArgii\endcsname

                {\the\count0 }%

        \expandafter

            \xdef\csname dps@probLetter\the\count0\endcsname

                {\expandafter\noexpand\ds@currentArgi}%

    \fi

}

\def\writeComposingEnv{%

    \newwrite \ds@composing@write

    \immediate\openout \ds@composing@write \jobname_comp.def

    \let\verbatim@out\ds@composing@write

    \dps@IWVO{\string\begin{Composing}}%

    \dps@IWVO{}%

    \expandafter\write@ComposingEnv\expandafter{\puzzleParameters}%

}

\def\write@ComposingEnv#1{\write@@ComposingEnv#1\relax\relax}%

\def\write@@ComposingEnv#1#2{\ifx#1\relax

    \gdef\nextPuzzlePair{%

    \dps@IWVO{\string\end{Composing}}%

    \immediate\closeout \ds@composing@write}%

    \else\gdef\nextPuzzlePair{\write@@@ComposingEnv{#1}{#2}}\fi

    \nextPuzzlePair}%

\def\write@@@ComposingEnv#1#2{%

    \gdef\ds@currentArgi{#1}\gdef\ds@currentArgii{#2}%

    \ifx\ds@currentArgii\ds@myspace\def\ds@probNumNext{\write@@ComposingEnv}\else

    \ifx\ds@currentArgii\ds@punc\def\ds@probNumNext{\write@@ComposingEnv}\else

        \def\ds@probNumNext{%

            \@ifundefined{dps@compQ#2}{% write to file

            \expandafter\gdef\csname dps@compQ#2\endcsname{found}%

            \dps@IWVO{\string\begin{cQ}{\noexpand#1}}%

            \dps@IWVO{\string\end{cQ}}%

            \dps@IWVO{\string\begin{cA}{\noexpand#1}}%

            \dps@IWVO{\string\end{cA}}%

            \dps@IWVO{}%

            }{}%

            \write@@ComposingEnv

        }%

    \fi\fi

    \ds@probNumNext

}

\def\verbatimwrite{\@bsphack

    \let\do\@makeother\dospecials

    \catcode`\^^M\active \catcode`\^^I=12

    \def\verbatim@processline{%

        \immediate\write\verbatim@out

        {\the\verbatim@line}}%

    \verbatim@start}

\def\endverbatimwrite{\@esphack}

\def\dps@IWVO{\immediate\write\verbatim@out}

\def\ds@populateList#1{%

    \ds@listIn = {}%

    \ds@nCnt=0

    \@whilenum \ds@nCnt < #1\do {%

        \advance\ds@nCnt1

        \edef\ds@listInHold{\the\ds@listIn\noexpand\\{\the\ds@nCnt}}%

        \ds@listIn = \expandafter{\ds@listInHold}%

    }%

}

\def\ds@processi#1{\advance\ds@nCnt1

    \ifnum\ds@nCnt=\ds@getRanNum\edef\ds@listOutHold{\the\ds@listOut}%

        \global\ds@listOut=\expandafter{\ds@listOutHold\\{#1}}%

    \else

        \edef\ds@listInHold{\the\ds@newListIn}%

        \ds@tmpToks = \expandafter{\ds@listInHold\\{#1}}%

        \ds@newListIn = \expandafter{\the\ds@tmpToks}%

    \fi

}

\def\ds@processii#1{\input{\jobname_q#1.cut}}

\def\ds@processiii#1{\input{\jobname_a#1.cut}}

\def\ds@processL#1{\advance\count0by1 %\divide\ds@aNumber2

    \ifnum\count0>\ds@aNumber\relax\else\input{\jobname_a#1.cut}\fi}

\def\ds@processR#1{\advance\count0by1 %\divide\ds@aNumber2

    \ifnum\count0>\ds@aNumber\relax\input{\jobname_a#1.cut}\fi}

\def\displayRandomizedQuestions{\let\\=\ds@processii\the\ds@qlistOut}

\def\displayRandomizedAnswers{\let\\=\ds@processiii\the\ds@alistOut}

\def\displayRandomizedAnswersLeftPanel{{\let\\=\ds@processL\count0=0 \divide\ds@aNumber2 \the\ds@alistOut}}

\def\displayRandomizedAnswersRightPanel{{\let\\=\ds@processR\count0=0 \divide\ds@aNumber2 \the\ds@alistOut}}

\def\ds@randomizeQuestionList#1{%

    \global\ds@listIn={}\global\ds@newListIn={}\global\ds@listOut={}%

    \global\ds@tmpToks={}%\global\ds@qlistOut={}\global\ds@alistOut={}%

    \ds@nMax=#1\relax\ds@populateList{\the\ds@nMax}%

    \global\forquestionstrue

    \ifwerandomize

        \expandafter\ds@randomizeList

    \else

        \global\ds@qlistOut=\expandafter{\the\ds@listIn}

    \fi

}

\def\ds@randomizeAnswerList#1{%

    \global\ds@listIn={}\global\ds@newListIn={}\global\ds@listOut={}%

    \global\ds@tmpToks={}%\global\ds@qlistOut={}\global\ds@alistOut={}%

    \ds@nMax=#1\relax\ds@populateList{\the\ds@nMax}%

    \global\forquestionsfalse

    \ifwerandomize

        \expandafter\ds@randomizeList

    \else

        \global\ds@alistOut=\expandafter{\the\ds@listIn}%

    \fi

}

\def\ds@randomizeList{%

    \let\\=\ds@processi

    \setrannum{\ds@getRanNum}{1}{\ds@nMax}%

    \ds@nCnt=0 %

    \the\ds@listIn

    \ds@loopTest

}

\def\ds@loopTest{\advance\ds@nMax-1

    \ifnum\ds@nMax>0\relax

        \def\@next{%

            \ds@listIn=\expandafter{\the\ds@newListIn}%

            \ds@newListIn={}\ds@randomizeList}%

    \else

        \let\@next\relax

        \ifforquestions

            \global\ds@qlistOut=\expandafter{\the\ds@listOut}%

        \else

            \global\ds@alistOut=\expandafter{\the\ds@listOut}%

        \fi

    \fi

    \@next

}

\newcommand{\placeMessageField}[3][]{%

    \ifeqforpaper\else\textField[#1\Ff\FfMultiline]{report}{#2}{#3}\fi

}

\newcommand{\threshold}[1]{\def\dsthreshold{#1}}

\threshold{3}

\newcommand{\penaltypoints}[1]{\def\dspenaltypoints{#1}}

\penaltypoints{3}

\newcommand{\passing}[1]{\def\dspassing{#1}}

\passing{4}

\begin{insDLJS}[processChoice]{match}{JS Update of Matching Puzzle}

var missesByQuestion = new Array();

var nMissed = 0;

var nPenaltyPoints = 0;

var activeQuestion = "";

function processChoice(fieldname)

{

    // Get the question field that corresponds to this question,

    // see if checked.

    var f = this.getField("ckbxQ."+fieldname);

    if ( (f != null) && (f.isBoxChecked(0)) ) { // right

        clearRedCrosses ();

        this.resetForm(["puzzle."+fieldname]);

        event.target.textColor = ["RGB", 0, 0.6, 0];

        f.strokeColor = ["RGB", 0, 0.6, 0];

        f.readonly = true;

        event.target.readonly=true;

        checkForFinished(\dspassing);

    } else { // wrong

        if ( activeQuestion != "" ) var h = this.getField(activeQuestion);

        if ( (activeQuestion=="") || (h.readonly) ) { // active question already answered

            event.target.value = "Off";

            var g = this.getField("report");

            str = \chooseQ;

            g.value = str;

            var to = app.setTimeOut("clearMessages()", 2000);

        } else {

            event.target.style = style.cr;

            event.target.textColor = color.red;

            ++nMissed;

            if ( typeof missesByQuestion[activeQuestion] !="number" )

                missesByQuestion[activeQuestion] = 1;

            else

                missesByQuestion[activeQuestion] += 1;

            if (missesByQuestion[activeQuestion] > \dsthreshold) {

                var f = this.getField("report");

                str = \triedTooMuch;

                f.value = str;

                nPenaltyPoints += \dspenaltypoints;

                missesByQuestion[activeQuestion] = 0;

                clearRedCrosses ();

                var to = app.setTimeOut("clearMessages()", 2000)

            }

        }

    }

}

function clearMessages()

{

    var f = this.getField("report");

    f.value = "";

}

function clearRedCrosses ()

{

    var g = this.getField("ckbxA");

    h = g.getArray();

    for ( i=0; i < h.length; i++) {

        if ( h[i].style == style.cr) h[i].checkThisBox(0,false);

        h[i].style = style.ch;

    }

 }

function checkForFinished(n)

{

    var f = this.getField("puzzle");

    var g = f.getArray();

    var anyEmpty = false;

    for ( var i=0; i < g.length; i++) {

        if ( (g[i].name != "puzzle.space") && (g[i].value.replace(/\s/g,"") == "") ) {

            anyEmpty = true;

            break;

        }

    }

    var nTotalPenaltyPoints=nMissed + nPenaltyPoints;

    if ( !anyEmpty ) {

        var f = this.getField("report");

        str = \congratFinished

        + "\n" + \regretPleased

        + "\n" + \reportPenaltyPoints

        + "\n" + \finalPenaltyScore

        + " " + finalRating(nTotalPenaltyPoints);

        f.value = str;

    }

}

function finalRating(n) {

    var aPenaltyScale = new Array( \aPenaltyScale\space);

    var aPenaltyMsgs = new Array( \aPenaltyMsgs\space);

    for ( var i=0; i<aPenaltyScale.length; i++)

        if ( (n > aPenaltyScale[i][0]) && (n <= aPenaltyScale[i][1]) )

            return aPenaltyMsgs[i];

}

\end{insDLJS}

\endinput

%%

%% End of file `dps.sty'.








dps/dps_str_de.def

%%

%% This is file `dps_str_de.def',

%% generated with the docstrip utility.

%%

%% The original source files were:

%%

%% dps.dtx  (with options: `copyright,german')

%% 

%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%

%% dps.sty package,             2006-10-06              %%

%% Copyright (C) 2006  D. P. Story                      %%

%%   dpstory@acrotex.net                                %%

%%                                                      %%

%% This program can redistributed and/or modified under %%

%% the terms of the LaTeX Project Public License        %%

%% Distributed from CTAN archives in directory          %%

%% macros/latex/base/lppl.txt; either version 1 of the  %%

%% License, or (at your option) any later version.      %%

%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%

\def\chooseQ{"Du musst erst eine Frage ausw\string\344hlen bevor Du antwortest!"}

\def\triedTooMuch{"Du hast es leider zu oft versucht, ich z\string\344hle  "

    + \dspenaltypoints

    + " Punkte dazu und setze den Z\string\344hler dann zur\string\374ck. Bitte streng Dich an!"}

\def\congratFinished{"Herzlichen Gl\string\374ckwunsch! Du hast das Puzzle beendet"

        +((nMissed==0) ? "  ohne auch nur einen Fehler zu machen, wunderbar!"

        : ", aber leider " + nMissed + " Mal falsch geantwortet!")}

\def\regretPleased{(( nMissed > n )

        ? "Ich bedauere Dir mitteilen zu m\string\374ssen, dass Du den Test leider nicht bestanden hast, weil Du zu viele Fragen falsch beantwortet hast."

        : "Ich bin \string\344usserst erfreut Dir mitteilen zu d\string\374rfen, dass Du den Test bestanden hast!")}

\def\reportPenaltyPoints{"Die Anzahl der Strafpunkte ist  " + nPenaltyPoints +"."}

\def\finalPenaltyScore{"Die Gesamtanzahl der Strafpunkte ist damit " + nTotalPenaltyPoints + ". "}

\def\aPenaltyScale{[-1,0], [0,4], [4, 10], [10,25], [25,5000]}

\def\aPenaltyMsgs

{%

    "Perfekt!",

    "Sehr gute Vorstellung!",

    "Es sieht nicht sonderlich gut aus. Vielleicht w\string\344re eine Wiederholung gut!",

    "R\string\344tst Du eigentlich nur? Niemand kann wirklich so schlecht sein. Das ist Stoff aus der siebten Klasse!",

    "Du bist ein hoffnungsloser Fall!"

}

\endinput

%%

%% End of file `dps_str_de.def'.








dps/dps_str_us.def

%%

%% This is file `dps_str_us.def',

%% generated with the docstrip utility.

%%

%% The original source files were:

%%

%% dps.dtx  (with options: `copyright,english')

%% 

%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%

%% dps.sty package,             2006-10-06              %%

%% Copyright (C) 2006  D. P. Story                      %%

%%   dpstory@acrotex.net                                %%

%%                                                      %%

%% This program can redistributed and/or modified under %%

%% the terms of the LaTeX Project Public License        %%

%% Distributed from CTAN archives in directory          %%

%% macros/latex/base/lppl.txt; either version 1 of the  %%

%% License, or (at your option) any later version.      %%

%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%

\def\chooseQ{"You must choose a question to answer before you answer!"}

\def\triedTooMuch{"You have tried this problem too many times, I'm adding "

    + \dspenaltypoints

    + " points, and resetting the penalty counter. Bad boy/girl!"}

\def\congratFinished{"Congratulations! You finished the puzzle"

        +((nMissed==0) ? " without missing a single problem, amazing!"

        : ", but you missed " + nMissed + " questions in the process!")}

\def\regretPleased{(( nMissed > n )

        ? "I regret to report that you did not pass the test because you missed too many questions."

        : "I am pleased to report that you passed the test!")}

\def\reportPenaltyPoints{"The number of penalty points is " + nPenaltyPoints +"."}

\def\finalPenaltyScore{"Final penalty score is " + nTotalPenaltyPoints + ". "}

\def\aPenaltyScale{[-1,0], [0,4], [4, 10], [10,25], [25,5000]}

\def\aPenaltyMsgs

{%

    "Perfect!",

    "Very nice performance!",

    "This is not looking good. Perhaps a review is in order!",

    "Are you trying? No one could do so badly, you only need a seventh grade education!",

    "You're hopeless!"

}

\endinput

%%

%% End of file `dps_str_us.def'.








dps/pmg_d1.tex

\documentclass{article}

\usepackage[forcolorpaper]{web}

\usepackage{eforms}

\usepackage[nonrandomized]{dps} %[lang=english] [showletters]

%\usepackage[viewmode,norandomize]{dps} %



\rowsep{2ex}



\ifeqforpaper

\setlength{\oddsidemargin}{-.5in}

\fi



\margins{.5in}{.5in}{24pt}{.5in} % left,right,top, bottom

\screensize{6.75in}{8.5in} % height, width



\title{DPS -- Das Puzzle Spiel}

\author{D. P. Story}



\thispagestyle{empty}



\parindent0pt

\parskip6pt



\DeclarePuzzle

{%

    {H}{H}

    {e}{e}

    {l}{l}

    {l}{l}

    {o}{o}

    {}{space}

    {J}{J}

    {\texorpdfstring{\"{u}}{\string\374}}{uml} % ü

    {r}{r}

    {g}{g}

    {e}{e}

    {n}{n}

    {,}{punc}

    {}{space}

    {h}{h}

    {o}{o}

    {w}{w}

    {}{space}

    {a}{a}

    {r}{r}

    {e}{e}

    {}{space}

    {y}{y}

    {o}{o}

    {u}{u}

    {}{space}

    {t}{t}

    {o}{o}

    {d}{d}

    {a}{a}

    {y}{y}

    {?}{punc}

}



\begin{Composing}



\begin{cQ}{H}

$ -5x - 2 + 3x $

\end{cQ}

\begin{cA}{H}

$-2x-2$

\end{cA}



\begin{cQ}{e}

$ 2x + 5x $

\end{cQ}

\begin{cA}{e}

$7x$

\end{cA}



\begin{cQ}{l}

$ 6x - 3x + 1 $

\end{cQ}

\begin{cA}{l}

$3x+1$

\end{cA}



\begin{cQ}{o}

$ 5 -5x + 2x -2 $

\end{cQ}

\begin{cA}{o}

$-3x+3$

\end{cA}



\begin{cQ}{J}

$ 4( x + 2 ) - 2 $

\end{cQ}

\begin{cA}{J}

$4x+6$

\end{cA}



\begin{cQ}{uml}

$ -3x + 2(5-2x) $

\end{cQ}

\begin{cA}{uml}

$-7x+10$

\end{cA}



\begin{cQ}{r}

$ -2 ( 3x + (-4) ) + 4 $

\end{cQ}

\begin{cA}{r}

$-6x+12$

\end{cA}



\begin{cQ}{g}

$ 5 ( x - (-2) ) $

\end{cQ}

\begin{cA}{g}

$5x+10$

\end{cA}



\begin{cQ}{n}

$ 6x - 5 (x - 2) $

\end{cQ}

\begin{cA}{n}

$x+10$

\end{cA}



\begin{cQ}{h}

$ 2 - 3(4x - 2) $

\end{cQ}

\begin{cA}{h}

$-12x+8$

\end{cA}



\begin{cQ}{w}

$ 6x - 3 + x + 5 $

\end{cQ}

\begin{cA}{w}

$7x+2$

\end{cA}



\begin{cQ}{a}

$ 5( -2x + 4 ) + 3x - 2 $

\end{cQ}

\begin{cA}{a}

   $-7x+18$

\end{cA}



\begin{cQ}{y}

$ 3(x-3) -  2(x+2) $

\end{cQ}

\begin{cA}{y}

$x-13$

\end{cA}



\begin{cQ}{u}

$ -2(3-x) - 4(1-3x) $

\end{cQ}

\begin{cA}{u}

$14x-10$

\end{cA}



\begin{cQ}{t}

$ x (5 +2) -3x $

\end{cQ}

\begin{cA}{t}

$4x$

\end{cA}



\begin{cQ}{d}

$ 1 -2 ( 2x -4x) + 2x $

\end{cQ}

\begin{cA}{d}

$ 6x + 1$

\end{cA}



\end{Composing}





\begin{document}

\begin{center}\bfseries\Large\color{blue}

    \webtitle\\[1ex]\webauthor

\end{center}



\ifeqforpaper

    \textcolor{red}{\textbf{Instructions:}} Solve each of the

    numbered problems in the center panel, and find the answer in either

    the left or right panel.  Fill in the space(s) in the puzzle

    corresponding to the question number with the letter associated with

    the answer.

\else

    \textcolor{red}{\textbf{Instructions:}} Select a question from the

    center panel by clicking its checkbox. Solve the problem and find

    the answer listed in either the left or right panel.  No guessing!

    A maximum of $\dsthreshold$ tries on any problem before you get

    $\dspenaltypoints$ penalty points !  Passing is to complete the puzzle with only

    $\dspassing$ incorrect answers.

\fi



\fbox{\begin{minipage}{\linewidth-2\fboxsep-2\fboxrule}

\insertPuzzle{18}

\end{minipage}}

\fbox{\begin{minipage}[t][3in][t]{.2\linewidth-2\fboxsep-2\fboxrule}\raggedright

Find the correct answer

\begin{itemize}

\displayRandomizedAnswersLeftPanel

\end{itemize}

\par\smallskip

\end{minipage}}%

\fbox{\begin{minipage}[t][3in][t]{.6\linewidth-2\fboxsep-2\fboxrule}

Simplify each of the expressions below, and find the answer in the column of answers.

\begin{multicols}{2}

\begin{enumerate}

\displayRandomizedQuestions

\end{enumerate}

\end{multicols}

\par\smallskip

\end{minipage}}%

\fbox{\begin{minipage}[t][3in][t]{.2\linewidth-2\fboxsep-2\fboxrule}\raggedright

Find the correct answer

\begin{itemize}

\displayRandomizedAnswersRightPanel

\end{itemize}

\par\smallskip

\end{minipage}}



\placeMessageField{\linewidth}{50pt}



\end{document}








dps/pmg_d1_p.tex

\documentclass[landscape]{article}

\usepackage[forcolorpaper]{web}

\usepackage{eforms}

\usepackage[nonrandomized]{dps} %[lang=english] [showletters]

%\usepackage[viewmode,norandomize]{dps} %



\rowsep{2ex}



\margins{.5in}{.5in}{.5in}{.5in} % left,right,top, bottom

\screensize{6.75in}{8.5in} % height, width



\title{DPS -- Das Puzzle Spiel}

\author{D. P. Story}



\thispagestyle{empty}



\parindent0pt

\parskip6pt



\DeclarePuzzle

{%

    {H}{H}

    {e}{e}

    {l}{l}

    {l}{l}

    {o}{o}

    {}{space}

    {J}{J}

    {\texorpdfstring{\"{u}}{\string\374}}{uml} % ü

    {r}{r}

    {g}{g}

    {e}{e}

    {n}{n}

    {,}{punc}

    {}{space}

    {h}{h}

    {o}{o}

    {w}{w}

    {}{space}

    {a}{a}

    {r}{r}

    {e}{e}

    {}{space}

    {y}{y}

    {o}{o}

    {u}{u}

    {}{space}

    {t}{t}

    {o}{o}

    {d}{d}

    {a}{a}

    {y}{y}

    {?}{punc}

}



\begin{Composing}



\begin{cQ}{H}

$ -5x - 2 + 3x $

\end{cQ}

\begin{cA}{H}

$-2x-2$

\end{cA}



\begin{cQ}{e}

$ 2x + 5x $

\end{cQ}

\begin{cA}{e}

$7x$

\end{cA}



\begin{cQ}{l}

$ 6x - 3x + 1 $

\end{cQ}

\begin{cA}{l}

$3x+1$

\end{cA}



\begin{cQ}{o}

$ 5 -5x + 2x -2 $

\end{cQ}

\begin{cA}{o}

$-3x+3$

\end{cA}



\begin{cQ}{J}

$ 4( x + 2 ) - 2 $

\end{cQ}

\begin{cA}{J}

$4x+6$

\end{cA}



\begin{cQ}{uml}

$ -3x + 2(5-2x) $

\end{cQ}

\begin{cA}{uml}

$-7x+10$

\end{cA}



\begin{cQ}{r}

$ -2 ( 3x + (-4) ) + 4 $

\end{cQ}

\begin{cA}{r}

$-6x+12$

\end{cA}



\begin{cQ}{g}

$ 5 ( x - (-2) ) $

\end{cQ}

\begin{cA}{g}

$5x+10$

\end{cA}



\begin{cQ}{n}

$ 6x - 5 (x - 2) $

\end{cQ}

\begin{cA}{n}

$x+10$

\end{cA}



\begin{cQ}{h}

$ 2 - 3(4x - 2) $

\end{cQ}

\begin{cA}{h}

$-12x+8$

\end{cA}



\begin{cQ}{w}

$ 6x - 3 + x + 5 $

\end{cQ}

\begin{cA}{w}

$7x+2$

\end{cA}



\begin{cQ}{a}

$ 5( -2x + 4 ) + 3x - 2 $

\end{cQ}

\begin{cA}{a}

   $-7x+18$

\end{cA}



\begin{cQ}{y}

$ 3(x-3) -  2(x+2) $

\end{cQ}

\begin{cA}{y}

$x-13$

\end{cA}



\begin{cQ}{u}

$ -2(3-x) - 4(1-3x) $

\end{cQ}

\begin{cA}{u}

$14x-10$

\end{cA}



\begin{cQ}{t}

$ x (5 +2) -3x $

\end{cQ}

\begin{cA}{t}

$4x$

\end{cA}



\begin{cQ}{d}

$ 1 -2 ( 2x -4x) + 2x $

\end{cQ}

\begin{cA}{d}

$ 6x + 1$

\end{cA}



\end{Composing}





\begin{document}

\begin{center}\bfseries\Large\color{blue}

    \webtitle\\[1ex]\webauthor

\end{center}



\ifeqforpaper

    \textcolor{red}{\textbf{Instructions:}} Solve each of the

    numbered problems in the center panel, and find the answer in either

    the left or right panel.  Fill in the space(s) in the puzzle

    corresponding to the question number with the letter associated with

    the answer.

\else

    \textcolor{red}{\textbf{Instructions:}} Select a question from

    the center panel by clicking its checkbox. Solve the problem and

    find the answer listed in either the left or right panel.  No

    guessing! A maximum of $\dsthreshold$ tries on any problem

    before you get $\dspenaltypoints$ penalty points !  Passing is

    to complete the puzzle with only $\dspassing$ incorrect answers.

\fi



\fbox{\begin{minipage}{\linewidth-2\fboxsep-2\fboxrule}

\insertPuzzle{18}

\end{minipage}}

\fbox{\begin{minipage}[t][3in][t]{.2\linewidth-2\fboxsep-2\fboxrule}\raggedright

Find the correct answer

\begin{itemize}

\displayRandomizedAnswersLeftPanel

\end{itemize}

\par\smallskip

\end{minipage}}%

\fbox{\begin{minipage}[t][3in][t]{.6\linewidth-2\fboxsep-2\fboxrule}

Simplify each of the expressions below, and find the answer in the column of answers.

\begin{multicols}{2}

\begin{enumerate}

\displayRandomizedQuestions

\end{enumerate}

\end{multicols}

\par\smallskip

\end{minipage}}%

\fbox{\begin{minipage}[t][3in][t]{.2\linewidth-2\fboxsep-2\fboxrule}\raggedright

Find the correct answer

\begin{itemize}

\displayRandomizedAnswersRightPanel

\end{itemize}

\par\smallskip

\end{minipage}}



\placeMessageField{\linewidth}{50pt}



\end{document}








dps/pmg_d2.tex

\documentclass{article}

%\usepackage[forcolorpaper]{web}

\usepackage{web} % dvips, dvipsone, pdftex, dvipdfm

\usepackage{eforms}

\usepackage{dps}





\margins{.5in}{.5in}{.5in}{.5in} % left,right,top, bottom

\screensize{8in}{8.5in} % height, width



\title{DPS -- Das Puzzle Spiel}

\author{D. P. Story}



\thispagestyle{empty}



\ifeqforpaper

\setlength{\oddsidemargin}{0pt}

\fi



\parindent0pt

\parskip6pt



\DeclarePuzzle

{%

    {H}{H}

    {e}{e}

    {l}{l}

    {l}{l}

    {o}{o}

    {}{space}

    {J}{J}

    {\texorpdfstring{u}{\string\374}}{uml} % ü

    {r}{r}

    {g}{g}

    {e}{e}

    {n}{n}

    {,}{punc}

    {}{space}

    {h}{h}

    {o}{o}

    {w}{w}

    {}{space}

    {a}{a}

    {r}{r}

    {e}{e}

    {}{space}

    {y}{y}

    {o}{o}

    {u}{u}

    {}{space}

    {t}{t}

    {o}{o}

    {d}{d}

    {a}{a}

    {y}{y}

    {?}{punc}

}



\begin{Composing}



\begin{cQ}{H}

$ -5x - 2 + 3x $

\end{cQ}

\begin{cA}{H}

$-2x-2$

\end{cA}



\begin{cQ}{e}

$ 2x + 5x $

\end{cQ}

\begin{cA}{e}

$7x$

\end{cA}



\begin{cQ}{l}

$ 6x - 3x + 1 $

\end{cQ}

\begin{cA}{l}

$3x+1$

\end{cA}



\begin{cQ}{o}

$ 5 -5x + 2x -2 $

\end{cQ}

\begin{cA}{o}

$-3x+3$

\end{cA}



\begin{cQ}{J}

$ 4( x + 2 ) - 2 $

\end{cQ}

\begin{cA}{J}

$4x+6$

\end{cA}



\begin{cQ}{uml}

$ -3x + 2(5-2x) $

\end{cQ}

\begin{cA}{uml}

$-7x+10$

\end{cA}



\begin{cQ}{r}

$ -2 ( 3x + (-4) ) + 4 $

\end{cQ}

\begin{cA}{r}

$-6x+12$

\end{cA}



\begin{cQ}{g}

$ 5 ( x - (-2) ) $

\end{cQ}

\begin{cA}{g}

$5x+10$

\end{cA}



\begin{cQ}{n}

$ 6x - 5 (x - 2) $

\end{cQ}

\begin{cA}{n}

$x+10$

\end{cA}



\begin{cQ}{h}

$ 2 - 3(4x - 2) $

\end{cQ}

\begin{cA}{h}

$-12x+8$

\end{cA}



\begin{cQ}{w}

$ 6x - 3 + x + 5 $

\end{cQ}

\begin{cA}{w}

$7x+2$

\end{cA}



\begin{cQ}{a}

$ 5( -2x + 4 ) + 3x - 2 $

\end{cQ}

\begin{cA}{a}

   $-7x+18$

\end{cA}



\begin{cQ}{y}

$ 3(x-3) -  2(x+2) $

\end{cQ}

\begin{cA}{y}

$x-13$

\end{cA}



\begin{cQ}{u}

$ -2(3-x) - 4(1-3x) $

\end{cQ}

\begin{cA}{u}

$14x-10$

\end{cA}



\begin{cQ}{t}

$ x (5 +2) -3x $

\end{cQ}

\begin{cA}{t}

$4x$

\end{cA}



\begin{cQ}{d}

$ 1 -2 ( 2x -4x) + 2x $

\end{cQ}

\begin{cA}{d}

$ 6x + 1$

\end{cA}



\end{Composing}



\begin{document}

\begin{center}\bfseries\Large\color{blue}

    \webtitle\\[1ex]\webauthor

\end{center}



\ifeqforpaper

    \textcolor{red}{\textbf{Instructions:}} Solve each of the

    numbered problems in the center panel, and find the answer in either

    the left or right panel.  Fill in the space(s) in the puzzle

    corresponding to the question number with the letter associated with

    the answer.

\else

    \textcolor{red}{\textbf{Instructions:}} Select a question from the

    center panel by clicking its checkbox. Solve the problem and find

    the answer listed in either the left or right panel.  No guessing!

    A maximum of $\dsthreshold$ tries on any problem before you get

    $\dspenaltypoints$ penalty points !  Passing is to complete the puzzle with only

    $\dspassing$ incorrect answers.

\fi



\def\answidth{1.2in}

\def\queswidth{1.8in}



\fbox{\begin{minipage}[t][5in][t]{\answidth-2\fboxsep-2\fboxrule}\raggedright

\makebox[\linewidth]{\textbf{Answers}}

\begin{itemize}

\displayRandomizedAnswers

\end{itemize}

\par\smallskip

\end{minipage}}%

%

\fbox{\begin{minipage}[t][1in][t]{\linewidth-\answidth-\queswidth-2\fboxsep-2\fboxrule}

\makebox[\linewidth]{\textbf{The Puzzle}}\par\smallskip

\insertPuzzle{11}

\end{minipage}}%

%

\fbox{\begin{minipage}[t][5in][t]{\queswidth-2\fboxsep-2\fboxrule}

\makebox[\linewidth]{\centering\textbf{Questions}}

\begin{enumerate}

\displayRandomizedQuestions

\end{enumerate}

\par\smallskip

\end{minipage}}%



\nointerlineskip\vspace{-\parskip}\placeMessageField{\linewidth}{50pt}



\end{document}








dps/pmg_d3.tex

\documentclass{article}

\usepackage{web}

\usepackage{eforms}

\usepackage[viewmode,showletters]{dps} %[lang=english] [showletters]

%\usepackage[viewmode,norandomize]{dps} %



\rowsep{2ex}



\margins{.5in}{.5in}{24pt}{.5in} % left,right,top, bottom

\screensize{7.75in}{8.5in} % height, width



\title{DPS -- Das Puzzle Spiel}

\author{D. P. Story}



\thispagestyle{empty}



\parindent0pt

\parskip6pt



\DeclarePuzzle

{%

    {H}{H}

    {e}{e}

    {l}{l}

    {l}{l}

    {o}{o}

    {}{space}

    {J}{J}

    {\texorpdfstring{\"{u}}{\string\374}}{uml} % ü

    {r}{r}

    {g}{g}

    {e}{e}

    {n}{n}

    {,}{punc}

    {}{space}

    {h}{h}

    {o}{o}

    {w}{w}

    {}{space}

    {a}{a}

    {r}{r}

    {e}{e}

    {}{space}

    {y}{y}

    {o}{o}

    {u}{u}

    {}{space}

    {t}{t}

    {o}{o}

    {d}{d}

    {a}{a}

    {y}{y}

    {?}{punc}

}



\begin{Composing}



\begin{cQ}{H}

$ -5x - 2 + 3x $

\end{cQ}

\begin{cA}{H}

$-2x-2$

\end{cA}



\begin{cQ}{e}

$ 2x + 5x $

\end{cQ}

\begin{cA}{e}

$7x$

\end{cA}



\begin{cQ}{l}

$ 6x - 3x + 1 $

\end{cQ}

\begin{cA}{l}

$3x+1$

\end{cA}



\begin{cQ}{o}

$ 5 -5x + 2x -2 $

\end{cQ}

\begin{cA}{o}

$-3x+3$

\end{cA}



\begin{cQ}{J}

$ 4( x + 2 ) - 2 $

\end{cQ}

\begin{cA}{J}

$4x+6$

\end{cA}



\begin{cQ}{uml}

$ -3x + 2(5-2x) $

\end{cQ}

\begin{cA}{uml}

$-7x+10$

\end{cA}



\begin{cQ}{r}

$ -2 ( 3x + (-4) ) + 4 $

\end{cQ}

\begin{cA}{r}

$-6x+12$

\end{cA}



\begin{cQ}{g}

$ 5 ( x - (-2) ) $

\end{cQ}

\begin{cA}{g}

$5x+10$

\end{cA}



\begin{cQ}{n}

$ 6x - 5 (x - 2) $

\end{cQ}

\begin{cA}{n}

$x+10$

\end{cA}



\begin{cQ}{h}

$ 2 - 3(4x - 2) $

\end{cQ}

\begin{cA}{h}

$-12x+8$

\end{cA}



\begin{cQ}{w}

$ 6x - 3 + x + 5 $

\end{cQ}

\begin{cA}{w}

$7x+2$

\end{cA}



\begin{cQ}{a}

$ 5( -2x + 4 ) + 3x - 2 $

\end{cQ}

\begin{cA}{a}

   $-7x+18$

\end{cA}



\begin{cQ}{y}

$ 3(x-3) -  2(x+2) $

\end{cQ}

\begin{cA}{y}

$x-13$

\end{cA}



\begin{cQ}{u}

$ -2(3-x) - 4(1-3x) $

\end{cQ}

\begin{cA}{u}

$14x-10$

\end{cA}



\begin{cQ}{t}

$ x (5 +2) -3x $

\end{cQ}

\begin{cA}{t}

$4x$

\end{cA}



\begin{cQ}{d}

$ 1 -2 ( 2x -4x) + 2x $

\end{cQ}

\begin{cA}{d}

$ 6x + 1$

\end{cA}



\end{Composing}





\begin{document}

\begin{center}\bfseries\Large\color{blue}

    \webtitle\\[1ex]\webauthor

\end{center}





\fbox{\begin{minipage}[t][4.8in][t]{.8\linewidth-2\fboxsep-2\fboxrule}

\ifeqforpaper

    \textcolor{red}{\textbf{Instructions:}} Solve each of the

    numbered problems in the center panel, and find the answer in either

    the left or right panel.  Fill in the space(s) in the puzzle

    corresponding to the question number with the letter associated with

    the answer.

\else

    \textcolor{red}{\textbf{Instructions:}} Select a question from

    the center panel by clicking its checkbox. Solve the problem and

    find the answer listed in either the left or right panel.  No

    guessing! A maximum of $\dsthreshold$ tries on any problem

    before you get $\dspenaltypoints$ penalty points!  Passing is

    to complete the puzzle with only $\dspassing$ incorrect answers.

\fi

\par\medskip

\insertPuzzle{15}



\noindent\kern-\fboxsep\rule{\linewidth+2\fboxsep}{.4pt}



Simplify each of the expressions below, and find the answer in the column of answers.

\begin{multicols}{2}

\begin{enumerate}

\displayRandomizedQuestions

\end{enumerate}

\end{multicols}

\par\smallskip

\end{minipage}}%

\fbox{\begin{minipage}[t][4.8in][t]{.2\linewidth-2\fboxsep-2\fboxrule}\raggedright

Find the correct answer

\begin{itemize}

\displayRandomizedAnswers

\end{itemize}

\par\smallskip

\end{minipage}}



\placeMessageField{\linewidth}{50pt}



\end{document}








dps/pmg_test.tex

\documentclass{article}

\usepackage{web}

\usepackage{eforms}

%\usepackage{dps}

\usepackage[viewmode,norandomize]{dps} %





\margins{.5in}{.5in}{24pt}{.5in} % left,right,top, bottom

\screensize{6.5in}{8.5in} % height, width



\title{DPS -- Das Puzzle Spiel}

\author{D. P. Story}



\thispagestyle{empty}



\parindent0pt

\parskip6pt



\DeclarePuzzle

{%

    {H}{H}

    {e}{e}

    {l}{l}

    {l}{l}

    {o}{o}

    {}{space}

    {J}{J}

    {\texorpdfstring{u}{\string\374}}{uml} % ü

    {r}{r}

    {g}{g}

    {e}{e}

    {n}{n}

    {,}{punc}

    {}{space}

    {h}{h}

    {o}{o}

    {w}{w}

    {}{space}

    {a}{a}

    {r}{r}

    {e}{e}

    {}{space}

    {y}{y}

    {o}{o}

    {u}{u}

    {}{space}

    {t}{t}

    {o}{o}

    {d}{d}

    {a}{a}

    {y}{y}

    {?}{punc}

}



\begin{Composing}



\begin{cQ}{H}

$ 1 + 1 $

\end{cQ}

\begin{cA}{H}

$2$

\end{cA}



\begin{cQ}{e}

$ 2x + 5x $

\end{cQ}

\begin{cA}{e}

$7x$

\end{cA}



\begin{cQ}{l}

$ 6x - 3x + 1 $

\end{cQ}

\begin{cA}{l}

$3x+1$

\end{cA}



\begin{cQ}{o}

$ 5 -5x + 2x -2 $

\end{cQ}

\begin{cA}{o}

$-3x+3$

\end{cA}



\begin{cQ}{J}

$ 4( x + 2 ) - 2 $

\end{cQ}

\begin{cA}{J}

$4x+6$

\end{cA}



\begin{cQ}{uml}

$ -3x + 2(5-2x) $

\end{cQ}

\begin{cA}{uml}

$-7x+10$

\end{cA}



\begin{cQ}{r}

$ -2 ( 3x + (-4) ) + 4 $

\end{cQ}

\begin{cA}{r}

$-6x+12$

\end{cA}



\begin{cQ}{g}

$ 5 ( x - (-2) ) $

\end{cQ}

\begin{cA}{g}

$5x+10$

\end{cA}



\begin{cQ}{n}

$ 6x - 5 (x - 2) $

\end{cQ}

\begin{cA}{n}

$x+10$

\end{cA}



\begin{cQ}{h}

$ 15 + 2 $

\end{cQ}

\begin{cA}{h}

$17$

\end{cA}



\begin{cQ}{w}

$ 6x - 3 + x + 5 $

\end{cQ}

\begin{cA}{w}

$7x+2$

\end{cA}



\begin{cQ}{a}

$ 5( -2x + 4 ) + 3x - 2 $

\end{cQ}

\begin{cA}{a}

   $-7x+18$

\end{cA}



\begin{cQ}{y}

$ 3(x-3) -  2(x+2) $

\end{cQ}

\begin{cA}{y}

$x-13$

\end{cA}



\begin{cQ}{u}

$ -2(3-x) - 4(1-3x) $

\end{cQ}

\begin{cA}{u}

$14x-10$

\end{cA}



\begin{cQ}{t}

$ \sin( \pi/2) $

\end{cQ}

\begin{cA}{t}

$1$

\end{cA}



\begin{cQ}{d}

$ \cos( \pi/4 ) $

\end{cQ}

\begin{cA}{d}

$\sqrt{2}/2$

\end{cA}



\end{Composing}





\begin{document}

\begin{center}\bfseries\Large\color{blue}

    \webtitle\\[1ex]\webauthor

\end{center}



\textcolor{red}{\textbf{Instructions:}} Select a question from the

center panel by clicking its checkbox. Solve the problem and find

the answer listed in either the left or right panel.  No guessing!

A maximum of $\threshold$ tries on any problem before you get

penalty points!  Passing is to complete the puzzle with only

$\passing$ incorrect answers.





\fbox{\begin{minipage}{\linewidth-2\fboxsep-2\fboxrule}

\insertPuzzle{18}

\end{minipage}}

\fbox{\begin{minipage}[t][3in][t]{.2\linewidth-2\fboxsep-2\fboxrule}\raggedright

Find the correct answer

\begin{itemize}

\displayRandomizedAnswersLeftPanel

\end{itemize}

\par\smallskip

\end{minipage}}%

\fbox{\begin{minipage}[t][3in][t]{.6\linewidth-2\fboxsep-2\fboxrule}

Simplify each of the expressions below, and find the answer in the column of answers.

\begin{multicols}{2}

\begin{enumerate}

\displayRandomizedQuestions

\end{enumerate}

\end{multicols}

\par\smallskip

\end{minipage}}%

\fbox{\begin{minipage}[t][3in][t]{.2\linewidth-2\fboxsep-2\fboxrule}\raggedright

Find the correct answer

\begin{itemize}

\displayRandomizedAnswersRightPanel

\end{itemize}

\par\smallskip

\end{minipage}}



\textField[\Ff\FfMultiline]{report}{\linewidth}{50pt}



\end{document}








